					Awar	d Workshe	et					
Event Name:	Baseball/Softball/Track Equipment	Due By:	07/11/2019	10:30 AM	Create Date:	06/11/2019			Effective Start Date:	08/31/2019		
Event ID:	Bid #2019-138	Sealed Until:	07/11/2019	10:31 AM	Created By:	Ashley Russell			Effective End Date:	08/30/2020		
Event Status:	Event Under Review	Posting Board Status:	Published		Template Name:	Bid Line Item			Invitation	Open Invitation		
Line Numbe	er Item/Service											
1	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Ea.	MFAC, LLC		12						No
			1 Ea.	The REC		12						No
			1 Ea.	School Specialty Inc		12						No
		MIZUNO360279	1 Ea.	BSN Sports	\$43.13	12	MIZUNO	360279	\$517.56			No
		MIZUNO360279	1 Ea.	BARCELONA SPORTING GOODS	\$49.20	12	MIZUNO	360279	\$590.40			No
		Mizuno360279, Mizuno	1 Ea.	Pro Player Supply	\$65.99	12	Mizuno	360279, Mizuno	\$791.88	Delivery Time - 3 Weeks. All Colors Available. Includes Embroidered Team Name & Logo	Delivery Time - 3 Weeks. All Colors Available. Includes Embroidered Team Name & Logo	No
2	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		7						No
			1 Ea.	School Specialty Inc		7						No
		Athletic Connection1385399	1 Ea.	The REC	\$22.39	7	Athletic Connection	1385399	\$156.73	Alternate from BSN Sports, available in black	Alternate from BSN Sports, available in black	No
		DIAMONDBALL BAG	1 Ea.	BSN Sports	\$28.13	7	DIAMOND	BALL BAG	\$196.91	BSN SPORTS /DIAMOND K14409	BSN SPORTS /DIAMOND K14409	No
		DIAMONDBALL BAG	1 Ea.	BARCELONA SPORTING GOODS	\$31.79	7	DIAMOND	BALL BAG	\$222.53			No
		Diamond SportsBALL BAG, Diamond	1 Ea.	Pro Player Supply	\$39.99	7	Diamond Sports	BALL BAG, Diamond	\$279.93	Delivery Time - 2 WeeksBlack, Royal, Scarlet or Navy	Delivery Time - 2 Weeks Black, Royal, Scarlet or Navy	No
3	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Namber	1 Ea.	MFAC, LLC		4						No
		SOURCE INTL172860	1 Ea.	School Specialty Inc	\$5.20	4	SOURCE INTL	172860	\$20.80	SSI# 009851 / BLUE	SSI# 009851 / BLUE	No
		Athletic Connection1377678	1 Ea.	The REC	\$18.95	4	Athletic Connection	1377678	\$75.80	Alternate from BSN Sports. Dimensions 33 x 12 x 15. Color-black.	Alternate from BSN Sports. Dimensions 33 x 12 x 15. Color-black.	No
		DIAMONDEQ BAG	1 Ea.	BSN Sports	\$32.12	4	DIAMOND	EQ BAG	\$128.48			No
		DIAMONDEQ BAG	1 Ea.	BARCELONA SPORTING GOODS	\$36.71	4	DIAMOND	EQ BAG	\$146.84			No
		Diamond SportsEQBAG, Diamond	1 Ea.	Pro Player Supply	\$47.99	4	Diamond Sports	EQBAG, Diamond	\$191.96	Delivery Time - 2 WeeksColors - Black, Royal, Scarlet, Navy, Green or Maroon.	Delivery Time - 2 Weeks Colors - Black, Royal, Scarlet, Navy, Green or Maroon.	No
4	BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	MFAC, LLC		172						No

	WILSON SPORTING GOODSWTA1010BHS1	1 Doz	School Specialty Inc	\$65.85	172	WILSON SPORTING	WTA1010BHS1 SST	\$11,326.20	SSI# 006890	SSI# 006890	No
	DIAMONDD1 - PRO NFHS	1 Doz	BSN Sports	\$68.29	172	DIAMOND	D1 - PRO NFHS	\$11,745.88	BSN SPORTS /DIAMOND 1453923	BSN SPORTS /DIAMOND 1453923	No
	Diamond SportsDiamond / D1-Pro NFHS	1 Doz	Pro Player Supply	\$72.99	172	Diamond Sports	Diamond / D1- Pro NFHS	\$12,554.28	Delivery Time - Weeks.	Delivery Time - Weeks.	No
	DIAMONDD1-PRO NFHS	1 Doz	BARCELONA SPORTING GOODS	\$75.90	172	DIAMOND	D1-PRO NFHS	\$13,054.80			No
	DiamondD1PRO	1 Doz	The REC	\$80.44	172	Diamond	D1PRO	\$13,835.68			No
BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Doz	BARCELONA SPORTING GOODS		10						No
		1 Doz	MFAC, LLC		10						No
		1 Doz	Pro Player Supply		10						No
		1 Doz	The REC		10						No
		1 Doz	School Specialty Inc		10						No
	MACGREGORMCBDBY	1 Doz	BSN Sports	\$18.78	10	MACGREGOR	MCBDBYEL	\$187.80			No
	CHAMPIONDB10	1 Doz	PYRAMID SCHOOL PRODUCTS	\$21.98	10	CHAMPION	DB10	\$219.80			No
BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Doz	MFAC, LLC		20						No
		1 Doz	The REC		20						No
	BSN SPORTS1033601	1 Doz	BSN Sports	\$4.12	20	BSN SPORTS	1033601	\$82.40	ALT BSN SPORTS 1033601	ALT BSN SPORTS 1033601	No
	CHAMPION SPORTSA122305T	1 Doz	School Specialty Inc	\$4.81	20	CHAMPION SPORTS	A122305T	\$96.20	SSI# 1503870	SSI# 1503870	No
	CHAMPIONPLBB	1 Doz	PYRAMID SCHOOL PRODUCTS	\$5.88	20	CHAMPION	PLBB	\$117.60			No
	CHAMPROCBB-51D	1 Doz	BARCELONA SPORTING GOODS	\$8.50	20	CHAMPRO	CBB-51D	\$170.00			No
	Champro SportsChampro / CBB-	1 Doz	Pro Player Supply	\$9.99	20	Champro Sports	Champro / CBB- 51D	\$199.80	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Doz	MFAC, LLC		13						No
	EASTON DIAMOND SPORTS LLCA122305T	1 Doz	School Specialty Inc	\$3.83	13	EASTON DIAMOND	A122305T	\$49.79	SSI# 003784	SSI# 003784	No
	EastonA122305	1 Doz	The REC	\$44.95	13	Easton	A122305	\$584.35			No
	EASTONA112305	1 Doz	BSN Sports	\$47.76	13	EASTON	A112305	\$620.88	BSN SPORTS BBSS9W	BSN SPORTS BBSS9W	No
	Easton SportsEaston / A122 305	1 Doz	Pro Player Supply	\$49.99	13	Easton Sports	Easton / A122 305	\$649.87	Delivery Time - 2 Weeks	Delivery Time - 2 Weeks	No
	EASTONA122305	1 Doz	BARCELONA SPORTING GOODS	\$53.48	13	EASTON	A122305	\$695.24			No
	EastonA122302	1 Doz	Gopher Sport	\$71.95	13	Easton	A122302	\$935.35	42-627	42-627	No
BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Doz	MFAC, LLC		108						No
	CHAMPION SPORTSPLSB	1 Doz	School Specialty Inc	\$16.37	108	CHAMPION SPORTS	PLSB	\$1,767.96	SSI# 1568500	SSI# 1568500	No
	DIAMONDDOL-1 HS	1 Doz	BSN Sports	\$40.58	108	DIAMOND	DOL-1 HS	\$4,382.64	BSN SPORTS 1453927	BSN SPORTS 1453927	No
	DIAMONDDOL-1	1 Doz	BARCELONA SPORTING GOODS	\$44.85	108	DIAMOND	DOL-1	\$4,843.80			No

9 BATS High Manufacturer & Part Number Unit of Measure 1 Ea. MFAC, LLC 2	No 2-625 No Supplier Notes	
9 BATS High Manufacturer & Part Number Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes 1 Ea. MFAC, LLC 2	Supplier Notes	0
Number Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes 1 Ea. MFAC, LLC 2 1 Ea. Pro Player Supply 2 1 Ea. BSN Sports 2		
1 Ea. Pro Player Supply 2 1 Ea. BSN Sports 2	No	Award Status
1 Ea. BSN Sports 2		0
	No	0
	No	0
1 Ea. School Specialty Inc 2	No	0
LOUISVILLE SLUGGEROMAHA 520 1 Ea. PYRAMID SCHOOL SLUGGER DMAHA 520 \$319.96 SUGGER DMAHA 520 \$319.96 SUGGER DMAHA 520 \$319.96	No	0
Slugger Omaha 520 TEd. THE REC \$100.10 Z Slugger Offidial 320 \$370.20	No	0
LOUISVILLE SLUGGEROMAHA 520 1 Ea. BARCELONA SPORTING GOODS \$196.42 2 LOUISVILLE SLUGGER OMAHA 520 \$392.84	No	
10 BATS High Manufacturer & Part Unit of Number Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes	Supplier Notes	Award Status
1 Ea. MFAC, LLC 1	No	
1 Ea. School Specialty Inc 1	No	0
	SN SPORTS EASTON AA11160435	0
ATTIOU435 Weeks	elivery Time - 2 Weeks No	0
EASTONA11160435	No	0
EastonA11160435 1 Ea. The REC \$65.80 1 Easton A11160435 \$65.80	No	
BATS High Manufacturer & Part Number Unit of Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes	Supplier Notes	Award Status
1 Ea. MFAC, LLC 1	No	0
1 Ea. Pro Player Supply 1	No	0
1 Ea. The REC 1	No	0
TEG. PROTECT 1		
1 Ea. BSN Sports 1	No	0
1 Ea. BSN Sports 1 1 Ea. School Specialty Inc 1	No No	
1 Ea. BSN Sports 1 1 Ea. School Specialty Inc 1 PAWLINGSRB953 1 Ea. PYRAMID SCHOOL \$159.98 1 PAWLINGS BR953 \$159.98		lo
1 Ea. BSN Sports 1 1 Ea. School Specialty Inc 1	No	lo lo
1 Ea. BSN Sports 1 1 Ea. School Specialty Inc 1 RAWLINGSBB953 1 Ea. PYRAMID SCHOOL PRODUCTS \$159.98 1 RAWLINGS BB953 \$159.98 PAWLINGSBB953 1 Ea. BARCELONA \$190.00 1 PAWLINGS BB953 \$100.00	No No	lo lo
1 Ea. BSN Sports 1	No No	lo Award Status
1 Ea. BSN Sports 1	No No No Supplier Notes	do do Award Status
1 Ea. BSN Sports 1	No No No Supplier Notes	Award Status
1 Ea. BSN Sports 1	No N	Award Status
1 Ea. BSN Sports 1	No N	Award Status

		Champro SportsChampro - A060 - YOUTH Youth 1-1/4". ADULT Adult 1-1/2"	1 Ea.	Pro Player Supply	\$3.79	92	Champro Sports	Champro - A060 - YOUTH Youth 1-1/4". ADULT Adult 1- 1/2"	\$348.68	Delivery Time - 2 Weeks .COMPARABLE PRODUCT - Champro Sports - Colors - Black, Brown, Light Blue, Cardinal, Forest Green, Gold, Grey, Kelly, Maroon, Navy, Pink, Optic Pink, Purple, Royal, Scarlet, Teal & White	Delivery Time - 2 Weeks .COMPARABLE PRODUCT - Champro Sports - Colors - Black, Brown, Light Blue, Cardinal, Forest Green, Gold, Grey, Kelly, Maroon, Navy, Pink, Optic Pink, Purple, Royal, Scarlet, Teal & White	No
13	CHEST PROTECTOR High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		2						No
			1 Ea.	School Specialty Inc		2						No
		MIZUNO380380	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$67.98	2	MIZUNO	380380	\$135.96			No
		MIZUNO380380	1 Ea.	BARCELONA SPORTING GOODS	\$78.60	2	MIZUNO	380380	\$157.20			No
		MIZUNO380380	1 Ea.	BSN Sports	\$85.47	2	MIZUNO	380380	\$170.94	BSN SPORTS/ MIZUNO MZ380380	BSN SPORTS/ MIZUNO MZ380380	No
		Mizuno Sports380380 / Mizuno 16" Samurai Chest Protector	1 Ea.	Pro Player Supply	\$97.59	2	Mizuno Sports	380380 / Mizuno 16" Samurai Chest Protector	\$195.18	Blk/Red, Blk/Royal,	Delivery Time - 2 Weeks Mizuno - Blk/Orange, Blk/Yellow, Grey/Navy, Blk/Red, Blk/Royal, Blk/Grey, Blk/Forest, Blk/Purple, Blk/Cardinal	No
		Mizuno380380	1 Ea.	The REC	\$98.31	2	Mizuno	380380	\$196.62			No
14	HELMETS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		6						No
							1					140
			1 Ea.	School Specialty Inc		6						No
		RAWLINGSMACHEXTX-S	1 Ea. 1 Ea.	PYRAMID SCHOOL PRODUCTS	\$39.98	6	RAWLINGS	MACHEXTX-S	\$239.88			
		RAWLINGSMACHEXTX-S RAWLINGSMACHEXTX-S		PYRAMID SCHOOL	\$39.98 \$45.00		RAWLINGS RAWLINGS	MACHEXTX-S MACHEXTX-S	\$239.88 \$270.00			No
		S	1 Ea.	PYRAMID SCHOOL PRODUCTS BARCELONA		6				BSN SPORTS/ RAWLINGS RWMACHEXTLS RWMACHEXTRS		No No
		S RAWLINGSMACHEXTX- S	1 Ea. 1 Ea.	PYRAMID SCHOOL PRODUCTS BARCELONA SPORTING GOODS	\$45.00	6	RAWLINGS	MACHEXTX-S	\$270.00	RAWLINGS RWMACHEXTLS RWMACHEXTRS	BSN SPORTS/ RAWLINGS RWMACHEXTLS RWMACHEXTRS	No No
		S RAWLINGSMACHEXTX-S RAWLINGSMACHEXT RawlingsMACHEXTXS Rawlings Sporting GoodsRawlings / MACHEXTX-S	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	PYRAMID SCHOOL PRODUCTS BARCELONA SPORTING GOODS BSN Sports	\$45.00 \$45.00	6 6	RAWLINGS RAWLINGS	MACHEXTX-S MACHEXT MACHEXTXS Rawlings /	\$270.00 \$270.00	RAWLINGS RWMACHEXTLS	BSN SPORTS/ RAWLINGS RWMACHEXTLS RWMACHEXTRS Delivery Time 2 Weeks . Colors - Black, Dark Green, Navy, Royal, Scarlet - S(6 7/8-7) M/7	No No No No No No
15	HELMETS High	S RAWLINGSMACHEXTX-S RAWLINGSMACHEXT RawlingsMACHEXTXS Rawlings Sporting GoodsRawlings /	1 Ea. 1 Ea. 1 Ea. 1 Ea.	PYRAMID SCHOOL PRODUCTS BARCELONA SPORTING GOODS BSN Sports The REC	\$45.00 \$45.00 \$48.16	6 6 6	RAWLINGS RAWLINGS Rawlings	MACHEXTX-S MACHEXT MACHEXTXS Rawlings /	\$270.00 \$270.00 \$288.96 \$299.94	RAWLINGS RWMACHEXTLS RWMACHEXTRS Delivery Time 2 Weeks . Colors - Black, Dark Green, Navy, Royal, Scarlet - S(6 7/8-7), M(7 1/8-7 1/4), L(7 3/8-7 3/4) - Right Handed or Left	BSN SPORTS/ RAWLINGS RWMACHEXTLS RWMACHEXTRS Delivery Time 2 Weeks . Colors - Black, Dark Green, Navy, Royal, Scarlet - S(6 7/8-7), M(7 1/8-7 1/4), L(7 3/8-7 1/2), XL(7 5/8-7 3/4) - Right Handed or Left Handed	No No No No
15	HELMETS High	S RAWLINGSMACHEXTX-S RAWLINGSMACHEXT RawlingsMACHEXTXS Rawlings Sporting GoodsRawlings / MACHEXTX-S Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. Unit of	PYRAMID SCHOOL PRODUCTS BARCELONA SPORTING GOODS BSN Sports The REC Pro Player Supply	\$45.00 \$45.00 \$48.16 \$49.99	6 6 6 6	RAWLINGS RAWLINGS Rawlings Rawlings Sporting Goods	MACHEXTX-S MACHEXTXS MACHEXTXS Rawlings / MACHEXTX-S	\$270.00 \$270.00 \$288.96 \$299.94	RAWLINGS RWMACHEXTLS RWMACHEXTRS Delivery Time 2 Weeks . Colors - Black, Dark Green, Navy, Royal, Scarlet - S(6 7/8-7), M(7 1/8-7 1/4), L(7 3/8-7 1/2), XL(7 5/8-7 3/4) - Right Handed or Left Handed Batter	BSN SPORTS/ RAWLINGS RWMACHEXTLS RWMACHEXTRS Delivery Time 2 Weeks . Colors - Black, Dark Green, Navy, Royal, Scarlet - S(6 7/8-7), M(7 1/8-7 1/4), L(7 3/8-7 1/2), XL(7 5/8-7 3/4) - Right Handed or Left Handed Batter Supplier Notes	No No No No No Award

			PYRAMID SCHOOL	I.	1						I
	MIZUNO380191	1 Ea.	PRODUCTS	\$67.98	2	MIZUNO	380191	\$135.96			No
	MIZUNO380191	1 Ea.	BARCELONA SPORTING GOODS	\$78.60	2	MIZUNO	380191	\$157.20			No
	Mizuno380191	1 Ea.	The REC	\$78.65	2	Mizuno	380191	\$157.30			No
	MIZUNO380191	1 Ea.	BSN Sports	\$79.00	2	MIZUNO	380191	\$158.00	BSN SPORTS / MIZUNO MZ380191	BSN SPORTS / MIZUNO MZ380191	No
	MizunoMizuno / 380191	1 Ea.	Pro Player Supply	\$89.99	2	Mizuno	Mizuno / 380191	\$179.98	Delivery Time - 2 Weeks . Black, Navy, Red, Forest, Cardinal, Purple, and Royal - Fits 7 1/4" - 7 5/8"	Delivery Time - 2 Weeks . Black, Navy, Red, Forest, Cardinal, Purple, and Royal - Fits 7 1/4" - 7 5/8"	No
HELMETS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Awa Stat
		1 Ea.	MFAC, LLC		8						No
		1 Ea.	School Specialty Inc		8						No
	RAWLINGSCFABHN	1 Ea.	BSN Sports	\$31.56	8	RAWLINGS	CFABHN	\$252.48	BSN SPORTS RAWLINGS CFABHN 1385391 COLORS BLACK,NAVY,RED, ROYAL ONLY	BSN SPORTS RAWLINGS CFABHN 1385391 COLORS BLACK,NAVY,RED, ROYAL ONLY	No
	RAWLINGSCFABHN	1 Ea.	BARCELONA SPORTING GOODS	\$32.14	8	RAWLINGS	CFABHN	\$257.12			No
	RAWLINGSCFABHN	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$33.95	8	RAWLINGS	CFABHN	\$271.60			No
	RawlingsRawlings / CFABHN	1 Ea.	Pro Player Supply	\$37.99	8	Rawlings	Rawlings / CFABHN	\$303.92	Delivery Time - 2 Weeks. Finish - (Clear Coat Finish) - Black, Dark Green, Maroon, Navy, Purple, Royal, Scarlet, White - S(6 7/8-7), M(7 1/8-7 1/4), L(7 3/8-7 1/2), XL(7 5/8-7 3/4)	Delivery Time - 2 Weeks. Finish - (Clear Coat Finish) - Black, Dark Green, Maroon, Navy, Purple, Royal, Scarlet, White - S(6 7/8- 7), M(7 1/8-7 1/4), L(7 3/8-7 1/2), XL(7 5/8-7 3/4)	No
	RawlingsCFABHN	1 Ea.	The REC	\$40.50	8	Rawlings	CFABHN	\$324.00			No
JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Aw Sta
		1 Ea.	MFAC, LLC		68						No
		1 Ea.	The REC		68						No
		1 Ea.	School Specialty Inc		68						No
	RAWLINGSLNCCJ	1 Ea.	BSN Sports	\$31.75	68	RAWLINGS	LNCCJ	\$2,159.00	BSN SPORTS/ RAWLINGS LNCCJ	BSN SPORTS/ RAWLINGS LNCCJ	No
	RAWLINGSLNCCJ	1 Ea.	BARCELONA SPORTING GOODS	\$32.85	68	RAWLINGS	LNCCJ	\$2,233.80			No
	RawlingsRawlings / LNCCJ	1 Ea.	Pro Player Supply	\$34.87	68	Rawlings	Rawlings / LNCCJ	\$2,371.16	Delivery Time - 3-4 Weeks . Includes Left Chest Embroidery - Colors - BIK, Wht, Grey, Nvy, Ryl, Scrlt - Men's sizes S(34-36), M(38-40), L(42-44), XL(46-48), XXL(50-52)	Delivery Time - 3-4 Weeks . Includes Left Chest Embroidery - Colors - Blk, Wht, Grey, Nvy, Ryl, Scrlt - Men's sizes S(34-36), M(38- 40), L(42-44), XL(46-48), XXL(50-52)	No
JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Aw Sta
		1 Ea.	MFAC, LLC		30						No

			1 Ea.	School Specialty Inc		30						No
		RAWLINGSUDFP3	1 Ea.	BSN Sports	\$35.60	30	RAWLINGS	UDFP3	\$1,068.00			No
		RawlingsRawlings / UDFP3	1 Ea.	Pro Player Supply	\$37.49	30	Rawlings	Rawlings / UDFP3	\$1,124.70	Delivery Time - 3-4 Weeks. Includes Embroidery - (2x2 Size))Colors: Bilk, Cardinal, Dk Grn, Grey, Mrn, Orng, Nvy, Prpl, Ryl, Scrlt , Wht Men's sizes S-3XL	Delivery Time - 3-4 Weeks. Includes Embroidery - (2x2 Size))Colors: Blk, Cardinal, Dk Grn, Grey, Mrn, Orng, Nvy, Prpl, Ryl, Scrlt , Wht - Men's sizes S-3XL	No
		RAWLINGSUDFP3	1 Ea.	BARCELONA SPORTING GOODS	\$40.29	30	RAWLINGS	UDFP3	\$1,208.70			No
19	LINE UP CARDS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pkg	MFAC, LLC		5						No
			1 Pkg	Pro Player Supply		5						No
			1 Pkg	School Specialty Inc		5						No
		SPORTSMCLINEUP	1 Pkg	BSN Sports	\$5.56	5	BSN SPORTS	MCLINEUP	\$27.80			No
		GloversMCLINEUP	1 Pkg	The REC	\$7.92	5	Glovers	MCLINEUP	\$39.60			No
		GLOVERSMCLINEUP	1 Pkg	BARCELONA SPORTING GOODS	\$8.75	5	GLOVERS	MCLINEUP	\$43.75			No
20	MITT High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		1						No
			1 Ea.	Pro Player Supply		1						No
			1 Ea.	The REC		1						No
			1 Ea.	School Specialty Inc		1						No
		WILSONWTA20RB17PU DGE	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$184.99	1	WILSON	WTA20RB17P UDGE	\$184.99			No
		WILSONWTA20RB17PU DGE	1 Ea.	BSN Sports	\$229.28	1	WILSON	WTA20RB17P UDGE	\$229.28	BSN SPORTS / WILSON WLWTA20RB17PUD GE	BSN SPORTS / WILSON WLWTA20RB17PUDGE	No
		WILSONWTA20RB17PU DGE	1 Ea.	BARCELONA SPORTING GOODS	\$240.00	1	WILSON	WTA20RB17P UDGE	\$240.00			No
21	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		12						No
			1 Ea.	The REC		12						No
			1 Ea.	School Specialty Inc		12						No
		CHAMPROBP4U	1 Ea.	BSN Sports	\$10.99	12	CHAMPRO	BP4U	\$131.88			No
		CHAMPROBP40	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$12.19	12	CHAMPRO	BP40	\$146.28			No
		CHAMPROBP4U	1 Ea.	BARCELONA SPORTING GOODS	\$12.85	12	CHAMPRO	BP4U	\$154.20			No
		Champro SportsChampro / BP4U	1 Ea.	Pro Player Supply	\$14.99	12	Champro Sports	Champro / BP4U	\$179.88	Delivery Time - 2 Weeks. Colors - Black, Grey, White - Waist Size: XS/26, S/28-30, M/32-34, L/36-38, XL/40-42	Delivery Time - 2 Weeks. Colors - Black, Grey, White - Waist Size: XS/26, S/28-30, M/32-34, L/36-38, XL/40- 42	No
22	SCOREBOOK High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
1			1 Ea.	MFAC, LLC	1	9						No

			1 Ea.	School Specialty Inc		9						No
		C.S PETERSONMSPTRBOK	1 Ea.	BSN Sports	\$3.28	9	C.S PETERSON	MSPTRBOK	\$29.52			No
		RAWLINGS7SB1	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$4.89	9	RAWLINGS	7SB1	\$44.01			No
		Rawlings7SB1	1 Ea.	The REC	\$7.95	9	Rawlings	7SB1	\$71.55			No
		Champro SportsChampro / A07	1 Ea.	Pro Player Supply	\$7.99	9	Champro Sports	Champro / A07	\$71.91	Delivery Time - 2 Weeks https://shop.champros ports.com/p-30- baseball-softball- scorebook.aspx	Delivery Time - 2 Weeks https://shop.champrospor ts.com/p-30-baseball- softball-scorebook.aspx	No
		PetersonScorebook	1 Ea.	Gopher Sport	\$9.85	9	Peterson	Scorebook	\$88.65	46-274	46-274	No
		RAWLINGS7SB1	1 Ea.	BARCELONA SPORTING GOODS	\$10.75	9	RAWLINGS	7SB1	\$96.75			No
23	SCOREBOOK High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pkg	MFAC, LLC		1						No
			1 Pkg	Pro Player Supply		1						No
			1 Pkg	School Specialty Inc		1						No
		GLOVERBB-101	1 Pkg	BSN Sports	\$12.38	1	GLOVER	BB-101	\$12.38	BSN SPORTS / GLOVER MSGLSCOR SCORE SHEETS ONLY	BSN SPORTS / GLOVER MSGLSCOR SCORE SHEETS ONLY	No
		GLOVERSBB-101	1 Pkg	BARCELONA SPORTING GOODS	\$15.25	1	GLOVERS	BB-101	\$15.25			No
		GloversBB101	1 Pkg	The REC	\$27.20	1	Glovers	BB101	\$27.20			No
24	SHIN GUARDS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		2						No
			1 Pr.	School Specialty Inc		2						No
		MIZUNO380408	1 Pr.	PYRAMID SCHOOL PRODUCTS	\$69.98	2	MIZUNO	380408	\$139.96			No
		MIZUNO380408	1 Pr.	BARCELONA SPORTING GOODS	\$82.50	2	MIZUNO	380408	\$165.00			No
		MIZUNO380408	1 Pr.	BSN Sports	\$89.00	2	MIZUNO	380408	\$178.00	BSN SPORTS /MIZUNO MZ380408	BSN SPORTS /MIZUNO MZ380408	No
		MizunoMizuno / 380408	1 Pr.	Pro Player Supply	\$89.93	2	Mizuno	Mizuno / 380408	\$179.86	Delivery Time - 2 Weeks .	Delivery Time - 2 Weeks	No
		Mizuno380408	1 Pr.	The REC	\$92.40	2	Mizuno	380408	\$184.80			No
25	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		74						No
			1 Ea.	The REC		74						No
			1 Ea.	School Specialty Inc		74						No
	-	RUSSELL64STTM0	1 Ea.	BARCELONA SPORTING GOODS	\$5.20	74	RUSSELL	64STTM0	\$384.80			No
		RUSSELL64STTMO	1 Ea.	BSN Sports	\$6.31	74	RUSSELL	64STTMO				No

		Russell AthleticRussell / 64STTM0	1 Ea.	Pro Player Supply	\$9.39	74	Russell Athletic	Russell / 64STTM0	\$694.86	Max Size 12x12	Delivery Time - 3-4 Weeks . Russell Essential Tee - 60/40 cotton/poly, Available Colors - Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red (Men's sizes S-XXL) One Color Logo Screen Print, Any Color Screen Print - Max Size 12x12	No
26	SHIRTS High	Number	Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
			1 Ea.	MFAC, LLC		30						No
			1 Ea.	The REC		30						No
			1 Ea.	School Specialty Inc		30						No
		BADGERR4104	1 Ea.	BSN Sports	\$7.82	30	BADGERR	4104	\$234.60			No
		Badger SportBadger / 4104	1 Ea.	Pro Player Supply	\$9.85	30	Badger Sport	Badger / 4104	\$295.50	Delivery Time - 3-4 Weeks. Available in 25 colors - Men's sizes S-5XL - Upcharge for 3XL & HIGHER \$3.50	Delivery Time - 3-4 Weeks. Available in 25 colors - Men's sizes S- 5XL - Upcharge for 3XL & HIGHER \$3.50	No
		BADGER4104	1 Ea.	BARCELONA SPORTING GOODS	\$10.19	30	BADGER	4104	\$305.70			No
27	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		239						No
						239						140
			1 Ea.	The REC		239						No
1												
		BADGER4120	1 Ea.	The REC School Specialty Inc BSN Sports	\$7.82	239	BADGER	4120	\$1,868.98			No
		BADGER4120 BADGER4120	1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA	\$7.82 \$8.73	239 239	BADGER BADGER	4120 4120	\$1,868.98 \$2,086.47			No No
		BADGER4120 Badger SportBadger / 4120	1 Ea. 1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports		239 239 239			\$2,086.47	Black, Burnt Orange, Brown, Columbia, Cardinal, Electric Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Vellow, Texas Orange, Vegas Gold, White	Delivery Time - 3-4 Weeks. Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Electric Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Yellow, Texas Orange, Vegas Gold, White (Men's sizes XS-5XL) - Screen Print Logo any Color	No No No No
28	SHIRTS High	BADGER4120 Badger SportBadger /	1 Ea. 1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS	\$8.73	239 239 239 239	BADGER	4120	\$2,086.47 \$2,117.54	Weeks. Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Electric Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Yellow, Texas Orange, Vegas Gold, White (Men's sizes XS-5XL) - Screen Print Logo any	Weeks. Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Electric Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Yellow, Texas Orange, Vegas Gold, White (Men's sizes XS-5XL) -Screen Print Logo any Color	No No No No

		1 Ea.	The REC		10						No
		1 Ea.	School Specialty Inc		10						No
	BADGER4605	1 Ea.	BSN Sports	\$11.47	10	BADGER	4605	\$114.70			No
	BADGER4605	1 Ea.	BARCELONA SPORTING GOODS	\$14.60	10	BADGER	4605	\$146.00			No
	Badger SportBadger / 4605	1 Ea.	Pro Player Supply	\$14.97	10	Badger Sport	Badger / 4605	\$149.70	Delivery Time - 2 Weeks. Colors - Black. Navy, Red, Royal, Graphite, Green, Maroon, Silver & White, Purple - no screen - Men's sizes S- 3XL	Delivery Time - 2 Weeks. Colors - Black. Navy, Red, Royal, Graphite, Green, Maroon, Silver & White, Purple - no screen - Men's sizes S-3XL	No
9 SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	Number	1 Ea.	MFAC, LLC		12						No
		1 Ea.	The REC		12						No
		1 Ea.	School Specialty Inc		12						No
	BADGER7209	1 Ea.	BARCELONA SPORTING GOODS	\$7.40	12	BADGER	7209	\$88.80			No
	BADGER7209	1 Ea.	BSN Sports	\$7.60	12	BADGER	7209	\$91.20			No
	Badger SportBadger / 7209	1 Ea.	Pro Player Supply	\$14.99	12	Badger Sport	Badger / 7209	\$179.88	5XL - Available Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Maroon,	Delivery Time - 2 Weeks. Men's sizes S- 5XL - Available Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Maroon, Navy, Purple, Red, Royal, Silver, Vegas Gold, White	No
0 SLO TOSS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Ea.	MFAC, LLC		1						No
		1 Ea.	Pro Player Supply		1						No
		1 Ea.	School Specialty Inc		1						No
	JUGSAO600	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$189.98	1	JUGS	AO600	\$189.98			No
	JUGSA0600	1 Ea.	BARCELONA SPORTING GOODS	\$234.25	1	JUGS	A0600	\$234.25			No
	JugsA0600	1 Ea.	The REC	\$279.93	1	Jugs	A0600	\$279.93			No
	JUGSA600	1 Ea.	BSN Sports	\$412.00	1	JUGS	A600	\$412.00	BSN SPORTS / JUGS 1159196	BSN SPORTS / JUGS 1159196	No
1 SOCKS High	Manufacturer & Part	Unit of									Award
	Number	Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
			Supplier MFAC, LLC	Bid Price	Quantity 11	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	100
		Measure 1 Doz 1 Doz		Bid Price	11	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
		Measure 1 Doz	MFAC, LLC	Bid Price	11 11 11	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status No
		Measure 1 Doz 1 Doz	MFAC, LLC The REC School Specialty Inc BSN Sports	Bid Price	11	Manufacturer TWIN CITY	Part Number OBK11	**Total Price	Item Response Notes	Supplier Notes	Status No No
	Number	Measure 1 Doz 1 Doz 1 Doz 1 Doz	MFAC, LLC The REC School Specialty Inc		11 11 11				Item Response Notes	Supplier Notes	Status No No No

		Twin CityTwin City / OBK11	1 Doz	Pro Player Supply	\$49.20	11	Twin City	Twin City / OBK11	\$541.20	Delivery Time - 2 Weeks. Available Colors - Black, Red, Royal, Forrest, Maroon, Navy, Red, Purple	Delivery Time - 2 Weeks. Available Colors - Black, Red, Royal, Forrest, Maroon, Navy, Red, Purple	No
32	SOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Doz	MFAC, LLC		14						No
			1 Doz	The REC		14						No
			1 Doz	School Specialty Inc		14						No
		TWIN CITY300CUST	1 Doz	BSN Sports	\$68.88	14	TWIN CITY	300CUST	\$964.32			No
		TWIN CITY300CUST	1 Doz	PYRAMID SCHOOL PRODUCTS	\$83.88	14	TWIN CITY	300CUST	\$1,174.32			No
		TWIN CITY300CUST	1 Doz	BARCELONA SPORTING GOODS	\$85.97	14	TWIN CITY	300CUST	\$1,203.58			No
		Twin CityTwin City 300 Custom	1 Doz	Pro Player Supply	\$99.78	14	Twin City	Twin City 300 Custom	\$1,396.92	Delivery Time - 4 Weeks Custom Colors (42 Colors) - Pattern - A,B,C,D,E,F,G,I	Delivery Time - 4 Weeks Custom Colors (42 Colors) - Pattern - A,B,C,D,E,F,G,I	No
33	TEES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Ea.	MFAC, LLC		8						No
			1 Ea.	Pro Player Supply		8						No
			1 Ea.	School Specialty Inc		8						No
		TANNER1384015	1 Ea.	BSN Sports	\$69.39	8	TANNER	1384015	\$555.12			No
		Tanner1384015	1 Ea.	The REC	\$77.00	8	Tanner	1384015	\$616.00			No
		TANNER1384015	1 Ea.	BARCELONA SPORTING GOODS	\$79.10	8	TANNER	1384015	\$632.80			No
34	WARM-UPS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		44						No
			1 Ea.	The REC		44						No
			1 Ea.	School Specialty Inc		44						No
		RUSSELL695HBM1	1 Ea.	BSN Sports	\$16.25	44	RUSSELL	695HBM1	\$715.00			No
		Russell AthleticRussell / 695HBM1	1 Ea.	Pro Player Supply	\$21.74	44	Russell Athletic	Russell / 695HBM1	\$956.56	Delivery Time - 3-4 Weeks. Size - Adult S- XXL - Screen on chest of top. 1 Color Screen Print Decoration - Colors - Oxford, Maroon, Cardinal, Navy, Orange, Gold, Navy, Columbia, White, Green, Graphite, Royal, Grey, Black, Red. Max Decoration Size - 12x12	Delivery Time - 3-4 Weeks. Size - Adult S- XXL - Screen on chest of top. 1 Color Screen Print Decoration - Colors - Oxford, Maroon, Cardinal, Navy, Orange, Gold, Navy, Columbia, White, Green, Graphite, Royal, Grey, Black, Red. Max Decoration Size - 12x12	No
		RUSSELL695HBM1	1 Ea.	BARCELONA SPORTING GOODS	\$31.10	44	RUSSELL	695HBM1	\$1,368.40			No
35	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		5						No

		1 Ea.	School Specialty Inc		5						No
	DiamondBALL BAG	1 Ea.	The REC	\$19.95	5	Diamond	BALL BAG	\$99.75			No
	DIAMONDBALL BAG	1 Ea.	BSN Sports	\$28.13	5	DIAMOND	BALL BAG	\$140.65	BSN SPORTS /DIAMOND K14409	BSN SPORTS /DIAMOND K14409	No
	DIAMONDBALL BAG	1 Ea.	BARCELONA SPORTING GOODS	\$31.79	5	DIAMOND	BALL BAG	\$158.95			No
	DiamondDiamond / BALL BAG	1 Ea.	Pro Player Supply	\$47.99	5	Diamond	Diamond / BALL BAG	\$239.95	Delivery Time - 2 Weeks. Colors - black, royal, scarlet, and navy	Delivery Time - 2 Weeks. Colors - black, royal, scarlet, and navy	No
6 BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		1 Ea.	MFAC, LLC		82						No
		1 Ea.	The REC		82						No
		1 Ea.	School Specialty Inc		82						No
	MIZUNO360279	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$39.98	82	MIZUNO	360279	\$3,278.36			No
	MIZUNO360279	1 Ea.	BSN Sports	\$43.13	82	MIZUNO	360279	\$3,536.66			No
	MIZUNO360279	1 Ea.	BARCELONA SPORTING GOODS	\$49.20	82	MIZUNO	360279	\$4,034.40			No
	MizunoMizuno / 360279	1 Ea.	Pro Player Supply	\$53.97	82	Mizuno	Mizuno / 360279	\$4,425.54	Delivery Time - 4 Weeks. Colors - Red, Navy, Black, Cardinal, Forest, Purple, Orange, White, Royal (all with Grey as a second color) -	Delivery Time - 4 Weeks. Colors - Red, Navy, Black, Cardinal, Forest, Purple, Orange, White, Royal (all with Grey as a second color) - Includes Embroidery.	No
									Includes Embroidery.	,	
7 BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	,	Award Status
BALLS High			Supplier MFAC, LLC	Bid Price	Quantity 99	Manufacturer	Part Number	Total Price		,	
7 BALLS High		Measure	MFAC, LLC School Specialty Inc	Bid Price \$5.59	The second secon	Manufacturer RUSSELL BRAND LLC	Part Number 43-147	Total Price \$553.41		,	Status
BALLS High	Number RUSSELL BRAND	Measure 1 Doz	MFAC, LLC		99	RUSSELL			Item Response Notes SSI# 1404008	Supplier Notes SSI# 1404008	Status No
BALLS High	Number RUSSELL BRAND LLC43-147	Measure 1 Doz 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL	\$5.59	99	RUSSELL BRAND LLC	43-147	\$553.41	Item Response Notes	Supplier Notes	No No
BALLS High	Number RUSSELL BRAND LLC43-147 DUDLEY43-147	Measure 1 Doz 1 Doz 1 Doz 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS	\$5.59 \$60.99	99 99 99	RUSSELL BRAND LLC DUDLEY	43-147 43-147	\$553.41 \$6,038.01 \$6,928.02	Item Response Notes SSI# 1404008 BSN SPORTS /	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY	No No No
BALLS High	Number RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147	Measure 1 Doz 1 Doz 1 Doz 1 Doz 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC	\$5.59 \$60.99 \$69.98	99 99 99	RUSSELL BRAND LLC DUDLEY	43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02	Item Response Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	No No No No
7 BALLS High	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147	Measure 1 Doz 1 Doz 1 Doz 1 Doz 1 Doz 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply	\$5.59 \$60.99 \$69.98 \$69.99	99 99 99 99 99	RUSSELL BRAND LLC DUDLEY DUDLEY	43-147 43-147 43-147 Dudley / 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01	Item Response Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	Status No No No No No No
7 BALLS High	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 DUDLEY43-147	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15	99 99 99 99 99	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85	Item Response Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2	Status No
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00	99 99 99 99 99 99	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY	43-147 43-147 43-147 Dudley / 43-147 43147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Status No
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 Dudley43-147 Dudley43-147 Manufacturer & Part	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS Gopher Sport	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00 \$85.45	99 99 99 99 99 99 99	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	No Award
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 Dudley43-147 Dudley43-147 Manufacturer & Part	Measure 1 Doz 1 Measure	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS Gopher Sport Supplier BARCELONA	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00 \$85.45	99 99 99 99 99 99 99 99	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	No Award Status
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 Dudley43-147 Dudley43-147 Manufacturer & Part	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS Gopher Sport Supplier BARCELONA SPORTING GOODS	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00 \$85.45	99 99 99 99 99 99 99 99 11	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	No N
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 Dudley43-147 Dudley43-147 Manufacturer & Part	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS Gopher Sport Supplier BARCELONA SPORTING GOODS MFAC, LLC	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00 \$85.45	99 99 99 99 99 99 99 40 99 11 11	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks. 42-664 Item Response Notes	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks. 42-664 Supplier Notes	No N
	RUSSELL BRAND LLC43-147 DUDLEY43-147 DUDLEY43-147 DudleyDudley / 43-147 Dudley43147 DUDLEY43-147 DUDLEY43-147 Dudley43-147 Dudley43-147 Manufacturer & Part	Measure 1 Doz	MFAC, LLC School Specialty Inc PYRAMID SCHOOL PRODUCTS BSN Sports Pro Player Supply The REC BARCELONA SPORTING GOODS Gopher Sport Supplier BARCELONA SPORTING GOODS MFAC, LLC The REC	\$5.59 \$60.99 \$69.98 \$69.99 \$74.15 \$79.00 \$85.45	99 99 99 99 99 99 99 40 Quantity 11 11	RUSSELL BRAND LLC DUDLEY DUDLEY Dudley Dudley DUDLEY Dudley	43-147 43-147 43-147 Dudley / 43-147 43-147 43-147	\$553.41 \$6,038.01 \$6,928.02 \$6,929.01 \$7,340.85 \$7,821.00 \$8,459.55	SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	Supplier Notes SSI# 1404008 BSN SPORTS / DUDLEY BBDNHFSY Delivery Time - 2 Weeks.	No N

		Champro SportsChampro - CSB- 57Y	1 Doz	Pro Player Supply	\$39.99	11	Champro Sports	Champro - CSB 57Y	\$439.89	Delivery Time - 2 Weeks. https://shop.champros ports.com/p-299-11- dimple-molded-softball optic-yellow.aspx	Delivery Time - 2 Weeks. https://shop.champrospor ts.com/p-299-11-dimple- molded-softball-optic- yellow.aspx	
39	BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	BARCELONA SPORTING GOODS		15						No
			1 Doz	MFAC, LLC		15						No
		BSN SPORTS1033618	1 Doz	BSN Sports	\$5.92	15	BSN SPORTS	1033618	\$88.80			No
		CHAMPION SPORTSPLSB	1 Doz	School Specialty Inc	\$5.95	15	CHAMPION SPORTS	PLSB	\$89.25	SSI# 1503873	SSI# 1503873	No
		CHAMPIONPLSB	1 Doz	PYRAMID SCHOOL PRODUCTS	\$8.28	15	CHAMPION	PLSB	\$124.20			No
		Champro SportsCSB-51	1 Doz	Pro Player Supply	\$13.99	15	Champro Sports	CSB-51	\$209.85	Delivery Time - 2 Weeks. https://shop.champros ports.com/p-3269-12- poly-molded- softballs.aspx	Delivery Time - 2 Weeks. https://shop.champrospor ts.com/p-3269-12-poly- molded-softballs.aspx	No
		GopherResisdent	1 Doz	Gopher Sport	\$17.95	15	Gopher	Resisdent	\$269.25	42-167	42-167	No
		BSN1033618	1 Doz	The REC	\$26.23	15	BSN	1033618	\$393.45			No
40	BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Doz	MFAC, LLC		2						No
			1 Doz	Pro Player Supply		2						No
		EASTON DIAMOND SPORTS LLCA122609T	1 Doz	School Specialty Inc	\$5.10	2	EASTON DIAMOND	A122609T	\$10.20	SSI# 003793	SSI# 003793	No
		EastonA122609	1 Doz	The REC	\$59.06	2	Easton	A122609	\$118.12			No
		EASTONA122609	1 Doz	BSN Sports	\$64.24	2	EASTON	A122609	\$128.48	BSN SPORTS / EASTON BBSS12Y	BSN SPORTS / EASTON BBSS12Y	No
		EASTONA122609	1 Doz	BARCELONA SPORTING GOODS	\$65.19	2	EASTON	A122609	\$130.38			No
41	BALLS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	BARCELONA SPORTING GOODS		5						No
			1 Doz	MFAC, LLC		5						No
			1 Doz	Pro Player Supply		5						No
			1 Doz	School Specialty Inc		5						No
		BSN SPORTS1155037	1 Doz	BSN Sports	\$14.78	5	BSN SPORTS	1155037	\$73.90			No
		BSN1155037	1 Doz	The REC	\$26.23	5	BSN	1155037	\$131.15			No
42	BASES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Set	MFAC, LLC		1						No
			1 Set	Pro Player Supply		1						No
			1 Set	The REC		1						No
		CHAMPION SPORTSM500	1 Set	School Specialty Inc	\$106.63	1	CHAMPION SPORTS	M500	\$106.63	SSI# 1568563	SSI# 1568563	No
		CHAMPIONM500	1 Set	PYRAMID SCHOOL PRODUCTS	\$119.98	1	CHAMPION	M500	\$119.98			No

				BARCELONA		1.						l
		SCHUTT129010XX	1 Set	SPORTING GOODS	\$220.00	1	SCHUTT	129010XX	\$220.00			No
		SCHUTT129010XX	1 Set	BSN Sports	\$236.72	1	SCHUTT	129010XX	\$236.72	BSN SPORTS/ SCHUTT 1036930 1236507 BBRPLUGS	BSN SPORTS/ SCHUTT 1036930 1236507 BBRPLUGS	No
		SchuttJack Corbett	1 Set	Gopher Sport	\$269.10	1	Schutt	Jack Corbett	\$269.10	0894-02-01	0894-02-01	No
43	BASES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		1						No
			1 Ea.	Pro Player Supply		1						No
			1 Ea.	The REC		1						No
		CHAMPION SPORTSBH87	1 Ea.	School Specialty Inc	\$53.54	1	CHAMPION SPORTS	BH87	\$53.54	SSI# 1568567	SSI# 1568567	No
		ADAMS300 AS	1 Ea.	BSN Sports	\$65.87	1	ADAMS	300 AS	\$65.87	BSN SPORTS ADAMS 1236415	BSN SPORTS ADAMS 1236415	No
		ADAMS300-AS	1 Ea.	BARCELONA SPORTING GOODS	\$72.85	1	ADAMS	300-AS	\$72.85			No
44	BATS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		4						No
			1 Ea.	BSN Sports		4						No
			1 Ea.	School Specialty Inc		4						No
		EASTONFP20GHXX	1 Ea.	BARCELONA SPORTING GOODS	\$278.00	4	EASTON	FP20GHXX	\$1,112.00			No
		EastonEaston / FP20GHXX	1 Ea.	Pro Player Supply	\$292.87	4	Easton	Easton / FP20GHXX	\$1,171.48	Delivery Time - 2 Weeks, Includes Freight.	Delivery Time - 2 Weeks, Includes Freight.	No
		EastonFP20GHXX	1 Ea.	The REC	\$341.00	4	Easton	FP20GHXX	\$1,364.00			No
45	BATS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		3						No
			1 Ea.	Pro Player Supply		3						No
			1 Ea.	BSN Sports		3						No
			1 Ea.	School Specialty Inc		3						No
		LOUISVILLE SLUGGERXENO X20	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$222.98	3	LOUISVILLE SLUGGER	XENO X20	\$668.94			No
		LOUISVILLE SLUGGERXENO X20	1 Ea.	BARCELONA SPORTING GOODS	\$278.00	3	LOUISVILLE SLUGGER	XENO X20	\$834.00			No
		Louisville SluggerXENOX20	1 Ea.	The REC	\$286.00	3	Louisville Slugger	XENOX20	\$858.00			No
46	BELTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		203						No
			1 Ea.	The REC		203						No
			1 Ea.	School Specialty Inc		203						No
•		BSN SPORTS1172577	1 Ea.	BSN Sports	\$2.15	203	BSN SPORTS	1172577	\$436.45	ALT BSN SPORTS / 1172577	ALT BSN SPORTS / 1172577	No
		ADAMS21/26	1 Ea.	BARCELONA SPORTING GOODS	\$2.29	203	ADAMS	21/26	\$464.87			No

	CHEST PROTECTOR	ChamproChampro - A060 - YOUTH Youth 1- 1/4". ADULT Adult 1-1/2"	1 Ea.	Pro Player Supply	\$3.49	203	Champro	Champro - A060 - YOUTH Youth 1-1/4". ADULT Adult 1- 1/2"	\$708.47	Delivery Time - 2 Weeks, COMPARABLE PRODUCT - Champro Sports - Colors - Black, Brown, Light Blue, Cardinal, Forest Green, Gold, Grey, Kelly, Maroon, Navy, Pink, Optic Pink, Purple, Royal, Scarlet, Teal & White	Delivery Time - 2 Weeks, COMPARABLE PRODUCT - Champro Sports - Colors - Black, Brown, Light Blue, Cardinal, Forest Green, Gold, Grey, Kelly, Maroon, Navy, Pink, Optic Pink, Purple, Royal, Scarlet, Teal & White	No
47	High	Number	Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
			1 Ea.	MFAC, LLC		3						No
			1 Ea.	School Specialty Inc		3						No
		MIZUNO380402	1 Ea.	BSN Sports	\$69.00	3	MIZUNO	380402	\$207.00	BSN SPORTS MIZUNO MZ380402	BSN SPORTS MIZUNO MZ380402	No
		MIZUNO380402	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$69.98	3	MIZUNO	380402	\$209.94			No
		Mizuno380402	1 Ea.	The REC	\$77.00	3	Mizuno	380402	\$231.00			No
		MIZUNO380402	1 Ea.	BARCELONA SPORTING GOODS	\$78.60	3	MIZUNO	380402	\$235.80			No
		MizunoMizuno / 380402	1 Ea.	Pro Player Supply	\$89.99	3	Mizuno	Mizuno / 380402	\$269.97	Delivery Time - 2 Weeks, Colors - Grey/Orange, Grey/Pellow, Grey/Red, Grey/Navy, Grey/Cardinal, Grey/Cardinal, Grey/Porest, Grey/Purple	Delivery Time - 2 Weeks, Colors - Grey/Orange, Grey/Yellow, Grey/Red, Grey/Navy, Grey/Royal, Grey/Cardinal, Grey/Forest, Grey/Purple	
48	HELMETS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		10						No
			1 Set	Pro Player Supply		10						No
			1 Set	School Specialty Inc		10						No
		Schutt3242000 12330	1 Set	The REC	\$28.35	10	Schutt	3242000 12330	\$283.50			No
		SCHUTT3242000/12330	1 Set	BARCELONA SPORTING GOODS	\$38.00	10	SCHUTT		\$380.00			No
		SCHUTT324200SCCC/ 12330CCC	1 Set	BSN Sports	\$52.96	10	SCHUTT	324200SCCC/ 12330CCC	\$529.60			No
49	HELMETS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		2						No
	-		1 Ea.	School Specialty Inc		2						No
		MIZUNO380253	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$71.98	2	MIZUNO	380253	\$143.96			No
		MIZUNO380253	1 Ea.	BSN Sports	\$79.00	2	MIZUNO	380253	\$158.00	BSN SPORTS MZ380253	BSN SPORTS MZ380253	No
		Mizuno380253	1 Ea.	The REC	\$83.95	2	Mizuno	380253	\$167.90			No
		MIZUNO380253	1 Ea.	BARCELONA SPORTING GOODS	\$87.00	2	MIZUNO	380253	\$174.00			No

		MizunoMizuno / 380253	1 Ea.	Pro Player Supply	\$94.99	2	Mizuno	Mizuno / 380253	\$189.98	Delivery Time - 2 Weeks, Available in Black, Navy, Red, Forest, Cardinal, Purple, and Royal - Fits 6 1/2" - 7 1/4".	Delivery Time - 2 Weeks, Available in Black, Navy, Red, Forest, Cardinal, Purple, and Royal - Fits 6 1/2" - 7 1/4".	No
50	HELMETS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		63						No
			1 Set	Pro Player Supply		63						No
			1 Set	The REC		63						No
			1 Set	School Specialty Inc		63						No
		SCHUTT3242000/12330	1 Set	BARCELONA SPORTING GOODS	\$38.50	63	SCHUTT	3242000/12330	\$2,425.50			No
		SCHUTT324200SCCC / MATTE 12330CCC	1 Set	BSN Sports	\$71.04	63	SCHUTT	324200SCCC / MATTE	\$4,475.52			No
51	JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		20						No
			1 Ea.	The REC		20						No
			1 Ea.	School Specialty Inc		20						No
		MIZUNO350663	1 Ea.	BSN Sports	\$25.01	20	MIZUNO	350663	\$500.20			No
		MIZUNO350663	1 Ea.	BARCELONA SPORTING GOODS	\$27.00	20	MIZUNO	350663	\$540.00			No
		MizunoMizuno / 350663	1 Ea.	Pro Player Supply	\$34.96	20	Mizuno	Mizuno / 350663	\$699.20	Delivery Time - 4 Weeks, Embroidered logo Left Chest - Royal/Grey, Red/Grey, Navy/Grey, Black/Grey, Grey - Men's sizes S - XXXL	Delivery Time - 4 Weeks, Embroidered logo Left Chest - Royal/Grey, Red/Grey, Navy/Grey, Black/Grey, Grey - Men's sizes S - XXXL	No
52	JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	MFAC, LLC		20						No
			1 Ea.	The REC		20						No
			1 Ea.	School Specialty Inc		20						No
		HOLLOWAY229140	1 Ea.	BARCELONA SPORTING GOODS	\$68.00	20	HOLLOWAY	229140	\$1,360.00			No
		HollowayHolloway / 229140	1 Ea.	Pro Player Supply	\$74.99	20	Holloway	Holloway / 229140	\$1,499.80	Delivery Time - 3-4 Weeks, -Available Colors - Black/White, Maroon/White, Navy/White, Navy/Navy, Black/Black, Royal/White,Black/Gol d, Black/Red, Black/Orange, Navy/Gold, Red/White, Green/Gold. Includes 2 Color Tackle Twill or	Delivery Time - 3-4 Weeks, -Available Colors - Black/White, Maroon/White, Navy/White, Navy/Navy, Black/Black, Royal/White,Black/Gold, Black/Orange, Navy/Gold, Red/White, Green/Gold. Includes 2 Color Tackle Twill or Embroidery Logo.	
		HOLLOWAY229140	1 Ea.	BSN Sports	\$77.50	20	HOLLOWAY	229140	\$1,550.00			No
53	JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status

			1 Ea.	MFAC, LLC		22						No
			1 Ea.	The REC		22						No
			1 Ea.	School Specialty Inc		22						No
		RAWLINGSUDFP3	1 Ea.	BSN Sports	\$35.60	22	RAWLINGS	UDFP3	\$783.20			No
		RawlingsRawlings / UDFP3	1 Ea.	Pro Player Supply	\$37.98	22	Rawlings	Rawlings / UDFP3	\$835.56	Delivery Time - 4 Weeks, Embroidered Neck Plate Logo - Colors- Blk, Cardinal, Dk Grn, Grey, Mrn, Orng, Nvy, Prpl, Ryl, Scrlt , Wht - Men's sizes S-3XL -	Delivery Time - 4 Weeks, Embroidered Neck Plate Logo - Colors Blk, Cardinal, Dk Grn, Grey, Mrn, Orng, Nvy, Prpl, Ryl, Scrlt , Wht - Men's sizes S-3XL -	No
		RAWLINGSUDFP3	1 Ea.	BARCELONA SPORTING GOODS	\$40.29	22	RAWLINGS	UDFP3	\$886.38			No
54	JACKET High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		106						No
			1 Ea.	The REC		106						No
			1 Ea.	School Specialty Inc		106						No
		MIZUNO350570	1 Ea.	BSN Sports	\$34.25	106	MIZUNO	350570	\$3,630.50			No
		MizunoMizuno / 350570	1 Ea.	Pro Player Supply	\$37.96	106	Mizuno	Mizuno / 350570	\$4,023.76	Delivery Time - 3-4 Weeks, Includes Left Chest Embroidery - Available Colors Black, White, Navy, Royal, Red, Grey, Purple, Forest, Cardinal - Men's sizes S-XXL	Delivery Time - 3-4 Weeks, Includes Left Chest Embroidery - Available Colors Black, White, Navy, Royal, Red, Grey, Purple, Forest, Cardinal - Men's sizes S-XXL	No
		MIZUNO350570	1 Ea.	BARCELONA SPORTING GOODS	\$38.00	106	MIZUNO	350570	\$4,028.00			No
55	LINE UP CARDS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pkg	MFAC, LLC		28						No
			1 Pkg	Pro Player Supply		28						No
			1 Pkg	School Specialty Inc		28						No
		BSN SPORTS MCLINEUP	1 Pkg	BSN Sports	\$5.56	28	BSN SPORTS /	MCLINEUP	\$155.68			No
		GloversMCLINEUP	1 Pkg	The REC	\$6.60	28	Glovers	MCLINEUP	\$184.80			No
		GLOVERSMCLINEUP	1 Pkg	BARCELONA SPORTING GOODS	\$8.75	28	GLOVERS	MCLINEUP	\$245.00			No
56	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		25						No
			1 Ea.	The REC		25						No
			1 Ea.	School Specialty Inc		25						No
		CHAMPROBP8	1 Ea.	BSN Sports	\$6.25	25	CHAMPRO	BP8	\$156.25			No
		CHAMPROBP8	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$6.98	25	CHAMPRO	BP8	\$174.50			No
		CHAMPROBP8	1 Ea.	BARCELONA SPORTING GOODS	\$7.12	25	CHAMPRO	BP8	\$178.00			No

		ChamproChampro / BP39 (New Style BP8 Discontinued)	1 Ea.	Pro Player Supply	\$13.99	25	Champro	Champro / BP39 (New Style BP8 Discontinued)	\$349.75	Fireball - Black, White,	Delivery Time - 2 WeeksBP8 DISCONTINUED - New Style - Champro Fireball - Black, White, Navy, Grey. Sizes XS-2XL https://shop.champrospor ts.com/p-8568-fireball- softball-pant.aspx	
57	PITCHING RUBBER High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		2						No
			1 Ea.	Pro Player Supply		2						No
			1 Ea.	The REC		2						No
			1 Ea.	School Specialty Inc		2						No
		ALT MACGREGORBBPPLAT E	1 Ea.	BSN Sports	\$9.83	2	ALT MACGREGOR	BBPPLATE	\$19.66	ALT BSN SPORTS/ MACGREGOR BBPPLATE	ALT BSN SPORTS/ MACGREGOR BBPPLATE	No
		SCHUTT12770500	1 Ea.	BARCELONA SPORTING GOODS	\$21.00	2	SCHUTT	12770500	\$42.00			No
58	SCOREBOOK High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	MFAC, LLC		19						No
			1 Ea.	Pro Player Supply		19						No
			1 Ea.	School Specialty Inc		19						No
		C.S. PETERSONMSPTRBOK	1 Ea.	BSN Sports	\$3.28	19	C.S. PETERSON	MSPTRBOK	\$62.32			No
		RAWLINGS7SB1	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$4.69	19	RAWLINGS	7SB1	\$89.11			No
		Rawlings7SB1	1 Ea.	The REC	\$8.27	19	Rawlings	7SB1	\$157.13			No
		PetersonScorebook	1 Ea.	Gopher Sport	\$9.85	19	Peterson	Scorebook	\$187.15	46-274	46-274	No
		RAWLINGS7SB1	1 Ea.	BARCELONA SPORTING GOODS	\$10.75	19	RAWLINGS	7SB1	\$204.25			No
59	SCREEN High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		9						No
			1 Ea.	School Specialty Inc		9						No
		BOWNETBOW BMX FRAME	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$89.98	9	BOWNET	BOW BMX FRAME	\$809.82			No
		BOW NET1397413	1 Ea.	BSN Sports	\$133.00	9	BOW NET	1397413	\$1,197.00			No
		BOWNET1397413	1 Ea.	BARCELONA SPORTING GOODS	\$138.80	9	BOWNET	1397413	\$1,249.20			No
		BownetBownet / 1397413	1 Ea.	Pro Player Supply	\$145.97	9	Bownet	Bownet / 1397413	\$1,313.73	Delivery Time - 2 Weeks, https://bownet.net/prod ucts/bownet-7-x-7-big- mouth- x?gclid=CjwKCAjwr8z oBRA0EiwANmvpYCk acOGMxtxtmR5V8Xm p- QnQmg5UqHahpb4zQ iEwrnELxQw8i6TQUB oC4dsQAvD BWE	Delivery Time - 2 Weeks, https://bownet.net/produc ts/bownet-7-x-7-big- mouth- x?gclid=CjwKCAjwr8zoB RA0EiwANmvpYCkacOG MxtxtmR5V8Xmp- QnQmg5UqHahpb4zQiE wrnELxQw8i6TQUBoC4d sQAvD_BwE	No

		Bownet1397413	1 Ea.	The REC	\$163.86	9	Bownet	1397413	\$1,474.74			No
60	SCREEN High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Ea.	BARCELONA		3						No
			1 Ea.	SPORTING GOODS MFAC, LLC		3						No
			1 Ea.	Pro Player Supply		3						No
			1 Ea.	School Specialty Inc		3						No
		BSN SPORTS1399588	1 Ea.	BSN Sports	\$148.00	3	BSN SPORTS	1399588	\$444.00			No
		BSN1399588	1 Ea.	The REC	\$221.66	3	BSN	1399588	\$664.98			No
61	SCREEN High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Ea.	BARCELONA		2						No
			1 Ea.	SPORTING GOODS MFAC, LLC		2						No
			1 Ea.	School Specialty Inc		2						No
		BSN SPORTS1399587	1 Ea.	BSN Sports	\$158.00	2	BSN SPORTS	1399587	\$316.00			No
		ChamproChampro -							***************************************	FREE SHIPPING - COMPARABLE -	FREE SHIPPING - COMPARABLE -	
		NB177	1 Ea.	Pro Player Supply	\$177.99	2	Champro	Champro - NB177	\$355.98	https://shop.champros ports.com/p-439-sock- style-7x7.aspx	https://shop.champrospor ts.com/p-439-sock-style- 7x7.aspx	No
		BSN1399587	1 Ea.	The REC	\$280.07	2	BSN	1399587	\$560.14	Style TXT.dopX	7 X7 .GODX	No
62	SCREEN High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		4						No
			1 Ea.	The REC		4						No
			1 Ea.	School Specialty Inc		4						No
		BOW NET1347203	1 Ea.	BSN Sports	\$126.00	4	BOW NET	1347203	\$504.00			No
		BownetBownet / 1347203	1 Ea.	Pro Player Supply	\$127.79	4	Bownet	Bownet / 1347203	\$511.16	Delivery Time - 2 Weeks	Delivery Time - 2 Weeks	No
		BOWNETBOWSTX	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$129.98	4	BOWNET	BOWSTX	\$519.92			No
		BOWNET1347203	1 Ea.	BARCELONA SPORTING GOODS	\$173.00	4	BOWNET	1347203	\$692.00			No
3	SHIN GUARDS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		4						No
			1 Pr.	The REC		4						No
			1 Pr.	School Specialty Inc		4						No
		MIZUNO380382	1 Pr.	PYRAMID SCHOOL PRODUCTS	\$70.98	4	MIZUNO	380382	\$283.92			No
		MIZUNO380382	1 Pr.	BARCELONA SPORTING GOODS	\$80.20	4	MIZUNO	380382	\$320.80			No
	·	MIZUNO380382	1 Pr.	BSN Sports	\$89.00	4	MIZUNO	380382	\$356.00	BSN SPORTS / MIZUNO MZ380382	BSN SPORTS / MIZUNO MZ380382	No
		MizunoMizuno / 380382	1 Pr.	Pro Player Supply	\$98.49	4	Mizuno	Mizuno / 380382	\$393.96	Delivery Time - 2 Weeks	Delivery Time - 2 Weeks	
64	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		140						No
			1 Ea.	The REC		140						No

			1 Ea.	School Specialty Inc		140						No
		RUSSELL64STTM0	1 Ea.	BARCELONA SPORTING GOODS	\$5.20	140	RUSSELL	64STTM0	\$728.00			No
		RUSSELL64STTMO	1 Ea.	BSN Sports	\$6.31	140	RUSSELL	64STTMO	\$883.40			No
		Russell / 64STTM0Russell / 64STTM0	1 Ea.	Pro Player Supply	\$7.79	140	Russell / 64STTM0	Russell / 64STTM0	\$1,090.60	Delivery Time - 3-4 Weeks. Available Colors - Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	Delivery Time - 3-4 Weeks. Available Colors Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	
65	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Ea.	MFAC, LLC		40						No
			1 Ea.	The REC		40						No
			1 Ea.	School Specialty Inc		40						No
		BADGER4164	1 Ea.	BSN Sports	\$8.18	40	BADGER	4164	\$327.20			No
		BADGER4164	1 Ea.	BARCELONA SPORTING GOODS	\$9.85	40	BADGER	4164	\$394.00			No
		BadgerBadger / 4164	1 Ea.	Pro Player Supply	\$9.96	40	Badger	Badger / 4164	\$398.40	Delivery Time - 2 Weeks. Available Colors - Navy, Red, Royal, Black, White, Silver, Orange, Purple, Green, Kelly, Gold,	Delivery Time - 2 Weeks. Available Colors Navy, Red, Royal, Black, White, Silver, Orange, Purple, Green, Kelly,	No
										Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	
66	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Pink, Maroon, Electric Blue - Women's sizes	Gold, Pink, Maroon, Electric Blue - Women's	Award Status
6	SHIRTS High			Supplier MFAC, LLC	Bid Price	Quantity 40	Manufacturer	Part Number	Total Price	Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	
6	SHIRTS High		Measure		Bid Price		Manufacturer	Part Number	Total Price	Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Status
6	SHIRTS High		Measure 1 Ea.	MFAC, LLC	Bid Price	40	Manufacturer	Part Number	Total Price	Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Status No
6	SHIRTS High		Measure 1 Ea. 1 Ea.	MFAC, LLC The REC School Specialty Inc BSN Sports	Bid Price	40	Manufacturer BADGER	Part Number	Total Price	Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	No No
66	SHIRTS High	Number	Measure 1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC School Specialty Inc		40 40 40				Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	No No No
36 	SHIRTS High	BADGER4605 BADGER4605 BADGER4605 BadgerBadger / 4605	Measure 1 Ea.	MFAC, LLC The REC School Specialty Inc BSN Sports BARCELONA	\$11.47	40 40 40 40	BADGER	4605 4605	\$458.80	Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL -	No No No No No
66	SHIRTS High SHORTS High	Number BADGER4605 BADGER4605	Measure 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS	\$11.47 \$13.60	40 40 40 40 40	BADGER BADGER	4605 4605	\$458.80 \$544.00 \$591.60	Pink, Maroon, Electric Blue - Women's sizes XS-2XL - Item Response Notes Delivery Time - Weeks. Available Colors - Maroon, Purple, Red, Royal, Navy, Forrest, Graphite, Royal, White, Silver, Burnt Orange, Black Men's	Gold, Pink, Maroon, Electric Blue - Women's sizes XS-2XL - Supplier Notes Delivery Time - Weeks.Available Colors - Maroon, Purple, Red, Royal, Navy, Forrest, Graphite, Royal, White,Silver, Burnt Orange, Black Men's Sizes (S-3XL)	Status No No No No No

		ļ ļ	1 Ea.	The REC		32						No
			1 Ea.	School Specialty Inc		32						No
		BADGER7216	1 Ea.	BSN Sports	\$7.24	32	BADGER	7216	\$231.68			No
		BADGER7216	1 Ea.	BARCELONA SPORTING GOODS	\$7.98	32	BADGER	7216	\$255.36			No
		BadgerBadger / 7216	1 Ea.	Pro Player Supply	\$12.77	32	Badger	Badger / 7216	\$408.64	Delivery Time - 3 Weeks Includes - Screen Print Logo One Color - Available Colors - Red, Royal, Navy, Purple, Black, Forrest,Kelly, Burnt Orange, White, Silver, Maroon, Vegas Gold. Womens Sizing (XS- XXL)	Delivery Time - 3 Weeks Includes - Screen Print Logo One Color - Available Colors - Red, Royal, Navy, Purple, Black, Forrest,Kelly, Burnt Orange, White, Silver, Maroon, Vegas Gold. Womens Sizing (XS- XXL)	No
8	SOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	MFAC, LLC		25						No
			1 Doz	The REC		25						No
			1 Doz	School Specialty Inc		25						No
		TWIN CITYOBK11	1 Doz	BSN Sports	\$40.20	25	TWIN CITY	OBK11	\$1,005.00			No
		TWIN CITYOBK11	1 Doz	PYRAMID SCHOOL PRODUCTS	\$40.68	25	TWIN CITY	OBK11	\$1,017.00			No
		TWIN CITYOBK11	1 Doz	BARCELONA SPORTING GOODS	\$48.08	25	TWIN CITY	OBK11	\$1,202.00			No
		Twin CityTwin City / OBK11	1 Doz	Pro Player Supply	\$56.79	25	Twin City	Twin City / OBK11	\$1,419.75	Delivery Time - 2 Weeks. Available Colors - Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange,Gold, Royal, Columbia Blue, White	Delivery Time - 2 Weeks. Available Colors Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange,Gold, Royal, Columbia Blue, White	No
9	SOCKS High	Manufacturer & Part	Unit of	Supplier	Bid Price	Quantity		Part Number	Total Bridge	Item Response Notes		Award
	· · ·	Number	Measure	Oupplier	Did File	Qualitity	Manufacturer	I dit i vallibei	Total Price	item Response Notes	Supplier Notes	Status
		Number	Measure 1 Doz	MFAC, LLC	Bid Frice	4	Manufacturer	T art Number	Total Price	item Response Notes	Supplier Notes	Status No
		Number		**	Biu Frice		Manufacturer	T att Number	Total Price	item Response Notes	Supplier Notes	
		Number	1 Doz	MFAC, LLC	Bid File	4	Manufacturer	T art Number	Total Price	Rem Response Notes	Supplier Notes	No
		Number	1 Doz 1 Doz	MFAC, LLC The REC	Bid File	4	Manufacturer	Tattivalliser	Total Price	nem response notes	Supplier Notes	No No
		ADIDAS5143XXX	1 Doz 1 Doz 1 Doz	MFAC, LLC The REC BSN Sports	\$82.20	4	ADIDAS	5143XXX	\$328.80		Supplier Notes	No No No
			1 Doz 1 Doz 1 Doz 1 Doz 1 Doz	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA		4 4 4				Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	No No No No
0	SOCKS High	ADIDAS5143XXX AdidasAdidas / 5143XXX Manufacturer & Part	1 Doz	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS	\$82.20	4 4 4	ADIDAS	5143XXX Adidas /	\$328.80 \$423.96	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	No No No No No No Award
	SOCKS High	ADIDAS5143XXX AdidasAdidas / 5143XXX	1 Doz Unit of Measure	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply Supplier	\$82.20 \$105.99	4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	ADIDAS Adidas	5143XXX Adidas / 5143XXX	\$328.80 \$423.96	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	No No No No No No Award Status
0	SOCKS High	ADIDAS5143XXX AdidasAdidas / 5143XXX Manufacturer & Part	1 Doz	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC	\$82.20 \$105.99	4 4 4 4 4 4 4 4 4 4 4 9 9 9 9 9 9 9 9 9	ADIDAS Adidas	5143XXX Adidas / 5143XXX	\$328.80 \$423.96	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	No No No No No No Award Status
	SOCKS High	ADIDAS5143XXX AdidasAdidas / 5143XXX Manufacturer & Part	1 Doz Unit of Measure	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply Supplier	\$82.20 \$105.99	4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	ADIDAS Adidas	5143XXX Adidas / 5143XXX	\$328.80 \$423.96	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	Delivery Time - 2 Weeks. Colors - White/Black, White/Cobalt, White/Collegiate Navy, White/Collegiate Green, White/Power Red	No No No No No Aware Status

			1 Doz	School Specialty Inc		9							No
		NIKESX5728	1 Doz	BSN Sports	\$69.00	9		NIKE	SX5728	\$621.00			No
		NIKESX5728	1 Doz	BARCELONA SPORTING GOODS	\$78.00	9		NIKE	SX5728	\$702.00			No
1	SOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price		Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Doz	MFAC, LLC		8							No
			1 Doz	Pro Player Supply		8							No
			1 Doz	The REC		8							No
			1 Doz	School Specialty Inc		8							No
		UNDER ARMOUR1270244-XXX	1 Doz	BSN Sports	\$56.40	8		UNDER ARMOUR	1270244-XXX	\$451.20			No
		UNDER ARMOUR1270244-XXX	1 Doz	BARCELONA SPORTING GOODS	\$68.40	8		UNDER ARMOUR	1270244-XXX	\$547.20			No
2	SOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price		Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	MFAC, LLC		6							No
			1 Doz	The REC		6							No
			1 Doz	School Specialty Inc		6							No
		TWIN CITY300A9	1 Doz	PYRAMID SCHOOL PRODUCTS	\$56.64	6		TWIN CITY	300A9	\$339.84			No
		TWIN CITY300A9	1 Doz	BSN Sports	\$62.40	6		TWIN CITY	300A9	\$374.40			No
		TWIN CITY300A9	1 Doz	BARCELONA SPORTING GOODS	\$69.60	6		TWIN CITY	300A9	\$417.60			No
		Twin CityTwin City / 300A9	1 Doz	Pro Player Supply	\$82.99	6		Twin City	Twin City / 300A9	\$497.94	Delivery Time - 2 Weeks. Black, Cardinal, Columbia, Dark Green, Gold, Graphite, Hot Pink, Kelly, Maroon, Navy, Orange, Purple, Royal, Scarlet, Texas Orange	Delivery Time - 2 Weeks. Black, Cardinal, Columbia, Dark Green, Gold, Graphite, Hot Pink, Kelly, Maroon, Navy, Orange, Purple, Royal, Scarlet, Texas Orange	
3	SOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price		Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Doz	MFAC, LLC		9							No
			1 Doz	The REC		9							No
			1 Doz	School Specialty Inc		9							No
		TWIN CITY300CUST	1 Doz	BSN Sports	\$68.88	9		TWIN CITY	300CUST	\$619.92			No
		TWIN CITY300CUST	1 Doz	PYRAMID SCHOOL PRODUCTS	\$83.76	9		TWIN CITY	300CUST	\$753.84			No
		TWIN CITY300CUST	1 Doz	BARCELONA SPORTING GOODS	\$85.90	9		TWIN CITY	300CUST	\$773.10			No
		Twin CityTwin City / 300CUST	1 Doz	Pro Player Supply	\$89.99	9		Twin City	Twin City / 300CUST	\$809.91	Delivery Time - 4-5 Weeks. Available Colors - Black, Cardinal, Columbia, Dark Green, Gold, Graphite, Hot Pink, Kelly, Maroon, Navy, Orange, Purple, Royal, Scarlet, Texas Orange - Choose your custom colors at	Delivery Time - 4-5 Weeks. Available Colors Black, Cardinal, Columbia, Dark Green, Gold, Graphite, Hot Pink, Kelly, Marcon, Navy, Orange, Purple, Royal, Scarlet, Texas Orange - Choose your custom colors at tcksports.com	No

74	TEES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	BARCELONA SPORTING GOODS		6						No
			1 Ea.	MFAC, LLC		6						No
			1 Ea.	Pro Player Supply		6						No
		MACGREGORBBBATTE	1 Ea.	BSN Sports	\$13.14	6	MACGREGOR	BBBATTEE	\$78.84			No
		UNIQUE POINT INDUSTRIAL CO LTDUP8100	1 Ea.	, ,	\$13.25	6	UNIQUE POINT INDUSTRIAL	UP8100	\$79.50	SSI# 007687	SSI# 007687	No
		CHAMPION90	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$18.99	6	CHAMPION	90	\$113.94			No
		MacGregorBBBATTEE	1 Ea.	The REC	\$22.49	6	MacGregor	BBBATTEE	\$134.94			No
' 5	TEES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		6						No
			1 Ea.	MFAC, LLC		6						No
			1 Ea.	Pro Player Supply		6						No
			1 Ea.	School Specialty Inc		6						No
		CHAMPIONBT50	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$40.98	6	CHAMPION	BT50	\$245.88			No
		BSN SPORTS1154818	1 Ea.	BSN Sports	\$50.28	6	BSN SPORTS	1154818	\$301.68			No
		BSN1154818	1 Ea.	The REC	\$57.04	6	BSN	1154818	\$342.24			No
6	TEES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		23						No
			1 Ea.	Pro Player Supply		23						No
			1 Ea.	School Specialty Inc		23						No
		TANNER1384015	1 Ea.	BSN Sports	\$69.39	23	TANNER	1384015	\$1,595.97			No
		TANNER1384015	1 Ea.	BARCELONA SPORTING GOODS	\$79.10	23	TANNER	1384015	\$1,819.30			No
		Tanner138015	1 Ea.	The REC	\$79.33	23	Tanner	138015	\$1,824.59			No
7	WARM-UPS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		56						No
			1 Set	The REC		56						No
			1 Set	School Specialty Inc		56						No
		RUSSELL695HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$31.10	56	RUSSELL	695HBM1/696H BM0	\$1,741.60			No
		RUSSELL695HBM1/ 696HBM0	1 Set	BSN Sports	\$34.50	56	RUSSELL	695HBM1/ 696HBM0	\$1,932.00			No

		RussellRussell / 695HBM1/ 696HBM0	1 Set	Pro Player Supply	\$40.79	56	Russell	Russell / 695HBM1/ 696HBM0	\$2,284.24	Color Screen Print Logo on Hoodie & Pant. Hoodie Colors: Black, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Green, Graphite, Royal, Ash, Black & Red Pants Colors: Oxford,	Delivery Time - 3-4 Weeks. IIncludes (1) Color Screen Print Logo on Hoodie & Pant. Hoodie Colors: Black, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Green, Graphite, Royal, Ash, Black & Red Pants Colors: Oxford, Black, Black Heather, Navy, Ash	No
78	1 Bags High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Trailing of	1 Ea.	MFAC, LLC		25						No
			1 Ea.	The REC		25						No
			1 Ea.	BSN Sports		25						No
			1 Ea.	School Specialty Inc		25						No
		ADIDAS51394XX	1 Ea.	BARCELONA SPORTING GOODS	\$36.00	25	ADIDAS	51394XX	\$900.00			No
		AdidasAdidas / 51394XX	1 Ea. Unit of	Pro Player Supply	\$59.67	25	Adidas	Adidas / 51394XX	\$1,491.75	Delivery Time - 3-4 Weeks. Available Colors: Black, Red, Navy, Purple, Black/Silver, Orange, Maroon, Onix, Blue, Green - 26" x 12.5" x 13.5" - 1 Bag color, print color, and logo*	Delivery Time - 3-4 Weeks. Available Colors: Black, Red, Navy, Purple, Black/Silver, Orange, Maroon, Onix, Blue, Green - 26" x 12.5" x 13.5" - 1 Bag color, print color, and logo*	No
79	1 Bags High	Manufacturer & Fait	Olli Ol							to the state of		
	1 Dags High	Number	Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
	1 Days High	Number	Measure 1 Ea.	Supplier MFAC, LLC	Bid Price	Quantity 24	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	
	T Dags Trigit	Number			Bid Price	24 24	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status
	T Days High	Number	1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC BSN Sports	Bid Price	24 24 24	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status No No No
	1 Days mgm	Number	1 Ea. 1 Ea.	MFAC, LLC The REC BSN Sports School Specialty Inc	Bid Price	24 24	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status No No
	1 Days mgm	Number ADIDAS5144XXX	1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC BSN Sports	Bid Price	24 24 24	Manufacturer ADIDAS	Part Number 5144XXX	*\$988.80	Item Response Notes	Supplier Notes	Status No No No
	1 Days mgm	ADIDAS5144XXX AdidasAdidas / 5144XXX	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA		24 24 24 24				Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Status No
80	1 Bags High	ADIDAS5144XXX AdidasAdidas / 5144XXX Manufacturer & Part	1 Ea.	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS	\$41.20	24 24 24 24 24 24	ADIDAS	5144XXX Adidas /	\$988.80 \$1,552.56	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green,	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal,	No No No No No No No Award
80		ADIDAS5144XXX AdidasAdidas / 5144XXX	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply	\$41.20 \$64.69	24 24 24 24 24 24	ADIDAS Adidas	5144XXX Adidas / 5144XXX	\$988.80 \$1,552.56	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Status No
80		ADIDAS5144XXX AdidasAdidas / 5144XXX Manufacturer & Part	1 Ea. Unit of Measure	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply Supplier	\$41.20 \$64.69	24 24 24 24 24 24 24	ADIDAS Adidas	5144XXX Adidas / 5144XXX	\$988.80 \$1,552.56	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	No No No No No No Award Status
80		ADIDAS5144XXX AdidasAdidas / 5144XXX Manufacturer & Part	1 Ea.	MFAC, LLC The REC BSN Sports School Specialty Inc BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC	\$41.20 \$64.69	24 24 24 24 24 24 24 Quantity 80	ADIDAS Adidas	5144XXX Adidas / 5144XXX	\$988.80 \$1,552.56	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	Delivery Time - 4 Weeks. Ebroidered team name/logo on backpac Included - Available Colors: Black, Red, Navy, Royal, Purple, Green, Orange.	No No No No No No No Award Status No

		NIKEBA5501	1 Ea.	BARCELONA SPORTING GOODS	\$32.97	80	NIKE	BA5501	\$2,637.60			No
		AdidasAdidas Striker II Backpack - 51428	1 Ea.	Pro Player Supply	\$49.99	80	Adidas	Adidas Striker II Backpack - 51428	\$3,999.20	Delivery Time - 4 Weeks. Comparable Product - Includes Team Name & Logo on Backpack.Maximum Size - 4x4, Available Colors: Red, Black, Navy, Bold Blue, Purple, Maroon, Green, Orange & Pink.	Delivery Time - 4 Weeks. Comparable Product - Includes Team Name & Logo on Backpack.Maximum Size - 4x4, Available Colors: Red, Black, Navy, Bold Blue, Purple, Maroon, Green, Orange & Pink.	No
81	1 Bags High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	· ·	rumber	1 Ea.	MFAC, LLC		20						No
			1 Ea.	Pro Player Supply		20						No
			1 Ea.	The REC		20						No
			1 Ea.	School Specialty Inc		20						No
		NIKEBA5501	1 Ea.	BSN Sports	\$30.63	20	NIKE	BA5501	\$612.60			No
		NIKEBA5501	1 Ea.	BARCELONA SPORTING GOODS	\$32.97	20	NIKE	BA5501	\$659.40			No
82	1 Bags High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	MFAC, LLC		6						No
			1 Ea.	Pro Player Supply		6						No
			1 Ea.	The REC		6						No
			1 Ea.	School Specialty Inc		6						No
		NIKEBA5338	1 Ea.	BSN Sports	\$8.00	6	NIKE	BA5338	\$48.00			No
		NIKEBA5338	1 Ea.	BARCELONA SPORTING GOODS	\$29.95	6	NIKE	BA5338	\$179.70			No
83	BAR High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		2						No
			1 Ea.	Pro Player Supply		2						No
		136581	1 Ea.	School Specialty Inc		2						No
		BSN SPORTSAFR050RM	1 Ea.	BSN Sports	\$12.58	2	BSN SPORTS	AFR050BM	\$25.16			No
		MFAC, LLC5883-01	1 Ea.	MFAC, LLC	\$19.00	2	MFAC, LLC	01/01/5883	\$38.00	https://www.everything trackandfield.com/Elas tic-Foam-Crossbar	https://www.everythingtra ckandfield.com/Elastic- Foam-Crossbar	No
		BSNAFR050BM	1 Ea.	The REC	\$25.45	2	BSN	AFR050BM	\$50.90			No
84	BAR High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		1						No
		GILL522	1 Ea.	BSN Sports	\$56.26	1	GILL	522	\$56.26	BSN SPORTS/ GILL GA522	BSN SPORTS/ GILL GA522	No
		LITANIA SPORST GROUP INC522	1 Ea.	School Specialty Inc	\$63.38	1	LITANIA SPORST	522	\$63.38	SSI# 025262	SSI# 025262	No
		GILL522	1 Ea.	BARCELONA SPORTING GOODS	\$64.00	1	GILL	522	\$64.00			No
		Gill522	1 Ea.	The REC	\$137.70	1	Gill	522	\$137.70			No
		GILL522	1 Ea.	MFAC, LLC	\$226.00	1	GILL	522	\$226.00			No

85	BATON High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		91						No
			1 Ea.	Pro Player Supply		91						No
		BSN SPORTSAALBAT	1 Ea.	BSN Sports	\$1.64	91	BSN SPORTS	AALBAT	\$149.24			No
		BSNAALBAT	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$1.99	91	BSN	AALBAT	\$181.09			No
		CHAMPION SPORTSRBRD	1 Ea.	School Specialty Inc	\$2.11	91	CHAMPION SPORTS	RBRD	\$192.01	SSI# 009812/ RED	SSI# 009812/ RED	No
		MFAC, LLC7042-Color	1 Ea.	MFAC, LLC	\$3.00	91	MFAC, LLC	7042-Color	\$273.00	https://www.everything trackandfield.com/Alu minum-Baton		No
		BSNAALBAT	1 Ea.	The REC	\$3.68	91	BSN	AALBAT	\$334.88			No
		AAEBA	1 Ea.	aluminum athletic equipment co	\$7.00	91	AAE	ВА	\$637.00			No
86	BLOCKS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		6						No
			1 Ea.	School Specialty Inc		6						No
		Gill412	1 Ea.	The REC	\$64.45	6	Gill	412	\$386.70	Alternate - Port A Pit	Alternate - Port A Pit	No
		CHAMPIONTSBPRO	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$81.99	6	CHAMPION	TSBPRO	\$491.94			No
		AAETSB-PRO	1 Ea.	aluminum athletic	\$105.00	6	AAE	TSB-PRO	\$630.00			No
		GILL412	1 Ea.	BSN Sports	\$106.00	6	GILL	412	\$636.00	BSN SPORTS / GILL GA412	BSN SPORTS / GILL GA412	No
		Gill412	1 Ea.	MFAC, LLC	\$117.00	6	Gill	412	\$702.00	0,1112		No
		GILL412	1 Ea.	BARCELONA SPORTING GOODS	\$121.60	6	GILL	412	\$729.60			No
87	DISCUS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		11						No
			1 Ea.	School Specialty Inc		11						No
		PORT A PIT1101416	1 Ea.	BSN Sports	\$23.77	11	PORT A PIT	1101416	\$261.47	ALT BSN SPORTS/ PORT A PIT 1101416	ALT BSN SPORTS/ PORT A PIT 1101416	No
		Gill316	1 Ea.	The REC	\$36.43	11	Gill	316	\$400.73	Alternate - BSN 1101416	Alternate - BSN 1101416	No
		AAEWHD	1 Ea.	aluminum athletic equipment co	\$40.00	11	AAE	WHD	\$440.00			No
		GILL316	1 Ea.	BARCELONA SPORTING GOODS	\$55.00	11	GILL	316	\$605.00			No
		Gill316	1 Ea.	MFAC, LLC	\$59.00	11	Gill	316	\$649.00			No
88	DISCUS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	Pro Player Supply		9						No
			1 Ea.	The REC		9						No
			1 Ea.	School Specialty Inc		9						No
		AAESHD	1 Ea.	aluminum athletic equipment co	\$85.00	9	AAE	SHD	\$765.00			No
		GILL818	1 Ea.	BSN Sports	\$153.00	9	GILL	818	\$1,377.00	BSN SPORTS / GILL GA818	BSN SPORTS / GILL GA818	No
		Gill818	1 Ea.	MFAC, LLC	\$162.00	9	Gill	818	\$1,458.00			No
		GILL818	1 Ea.	BARCELONA	\$167.50		GILL	1	t		·	No

89	HURDLES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	·		1 Ea.	BARCELONA SPORTING GOODS		48						No
			1 Ea.	MFAC, LLC		48						No
			1 Ea.	The REC		48						No
			1 Ea.	BSN Sports		48						No
			1 Ea.	School Specialty Inc		48						No
		AAEHSAH-BK	1 Ea.	aluminum athletic equipment co	\$98.00	48	AAE	HSAH-BK	\$4,704.00			No
		AAEAAE / HSAH-BK	1 Ea.	Pro Player Supply	\$215.00	48	AAE	AAE / HSAH- BK	\$10,320.00	Delivery Time - 3-4 Weeks.	Delivery Time - 3-4 Weeks.	No
90	MEASURING TAPE High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		BSN SPORTSMSTAP100	1 Ea.	BSN Sports	\$5.56	16	BSN SPORTS	MSTAP100	\$88.96	ALT BSN SPORTS/ MSTAP100 CLOSED REEL	ALT BSN SPORTS/ MSTAP100 CLOSED REEL	No
		CHAMPIONF100	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.89	16	CHAMPION	F100	\$94.24			No
		CHAMPION SPORTSR100	1 Ea.	School Specialty Inc	\$6.52	16	CHAMPION SPORTS	R100	\$104.32	SSI# 007532	SSI# 007532	No
		CHAMPIONF100	1 Ea.	BARCELONA SPORTING GOODS	\$7.49	16	CHAMPION	F100	\$119.84			No
		ChampionF100	1 Ea.	The REC	\$14.77	16	Champion	F100	\$236.32	Alternate - Alumagoal	Alternate - Alumagoal	No
		MFAC, LLC7011-100	1 Ea.	MFAC, LLC	\$17.00	16	MFAC, LLC	7011-100	\$272.00	https://www.everything trackandfield.com/Eco nomy-Closed-Reel- Fiberglass-Measuring- Tape?custcol19=6	https://www.everythingtra ckandfield.com/Economy- Closed-Reel-Fiberglass- Measuring- Tape?custcol19=6	No
		CHAMPIONF100	1 Ea.	aluminum athletic equipment co	\$17.00	16	CHAMPION	F100	\$272.00			No
		ChampionChampion / F100	1 Ea.	Pro Player Supply	\$23.98	16	Champion	Champion / F100	\$383.68	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
91	MEASURING TAPE High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		BSN SPORTSMSTAP200	1 Ea.	BSN Sports	\$9.28	17	BSN SPORTS	MSTAP200	\$157.76	ALT BSN SPORTS MSTAP200 OPEN REEL	ALT BSN SPORTS MSTAP200 OPEN REEL	No
		CHAMPIONR200	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$10.45	17	CHAMPION	R200	\$177.65			No
		CHAMPION SPORTSR200	1 Ea.	School Specialty Inc	\$10.75	17	CHAMPION SPORTS	R200	\$182.75	SSI# 008399	SSI# 008399	No
		CHAMPIONR200	1 Ea.	BARCELONA SPORTING GOODS	\$12.60	17	CHAMPION	R200	\$214.20			No
		CHAMPIONR200	1 Ea.	aluminum athletic equipment co	\$22.00	17	CHAMPION	R200	\$374.00			No
		MFAC, LLC7012-200	1 Ea.	MFAC, LLC	\$23.00	17	MFAC, LLC	7012-200	\$391.00	https://www.everything trackandfield.com/Eco nomy-Open-Reel- Fiberglass-Measuring- Tape?custcol19=8	https://www.everythingtra ckandfield.com/Economy- Open-Reel-Fiberglass- Measuring- Tape?custcol19=8	No
		ChampionR200	1 Ea.	The REC	\$24.54	17	Champion	R200	\$417.18	Alternate - Alumagoal	Alternate - Alumagoal	No
		ChampionChampion / R200	1 Ea.	Pro Player Supply	\$29.99	17	Champion	Champion / R200	\$509.83	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
92	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		60						No
			1 Ea.	The REC		60						No

i			1 Ea.	School Specialty Inc		60						No
		BADGERBA4610	1 Ea.	BSN Sports	\$12.06	60	BADGER	BA4610	\$723.60			No
		BADGERBA4610	1 Ea.	BARCELONA	\$14.60	60	BADGER	BA4610	\$876.00			No
		Badger SportsBadger BA4610	1 Ea.	Pro Player Supply	\$14.79	60	Badger Sports	Badger BA4610	\$887.40	Delivery Time - 2 Weeks. Available Colors - Black, Graphite & White. Sizes: S-3XL	Delivery Time - 2 Weeks. Available Colors Black, Graphite & White. Sizes: S-3XL	No
93	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
L			1 Ea.	MFAC, LLC		12						No
L			1 Ea.	Pro Player Supply		12						No
			1 Ea.	The REC		12						No
ı			1 Ea.	School Specialty Inc		12						No
1		NIKE893721	1 Ea.	BSN Sports	\$22.50	12	NIKE	893721	\$270.00			No
		NIKE893721	1 Ea.	BARCELONA SPORTING GOODS	\$24.69	12	NIKE	893721	\$296.28			No
94	PISTOL High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		19						No
<u> </u>			1 Ea.	The REC		19						No
			1 Ea.	BSN Sports		19						No
<u> </u>			1 Ea.	School Specialty Inc		19						No
		WINCHESTER2222	1 Ea.	BARCELONA SPORTING GOODS	\$10.70	19	WINCHESTER	2222	\$203.30			No
		MFAC,LLC6645-22	1 Ea.	MFAC, LLC	\$20.00	19	MFAC,LLC	6645-22	\$380.00	https://www.everything trackandfield.com/Star ting- Blanks?custcol17=8	https://www.everythingtra ckandfield.com/Starting- Blanks?custcol17=8	
		WINCHESTER22BL	1 Ea.	aluminum athletic equipment co	\$26.00	19	WINCHESTER	22BL	\$494.00			No
95	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		218						No
			1 Ea.	The REC		218						No
			1 Ea.	School Specialty Inc		218						No
		BADGER4120	1 Ea.	BSN Sports	\$7.82	218	BADGER	4120	\$1,704.76			No
										Delivery Time - 3 Weeks. Colors - Black, Burnt Orange, Brown, Columbia, Cardinal, Electric	Delivery Time - 3 Weeks. Colors - Black, Burnt Orange, Brown, Columbia, Cardinal,	
		BadgerBadger / 4120	1 Ea.	Pro Player Supply BARCELONA	\$8.23	218	Badger	Badger / 4120	\$1,794.14	Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Yellow, Texas Orange, Vegas Gold, White (Men's sizes XS-5XL) (1) Color Screen Print Logo any Color	Electric Blue, Maroon, Navy, Pink, Purple, Red, Royal, Silver, Safety Orange, Safety Yellow, Texas Orange, Vegas Gold, White (Men's sizes XS-5XL) (1) Color Screen Print Logo any Color	No

96	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		20						No
			1 Ea.	The REC		20						No
			1 Ea.	School Specialty Inc		20						No
		BADGER4104	1 Ea.	BSN Sports	\$7.82	20	BADGER	4104	\$156.40			No
		BADGER4104	1 Ea.	BARCELONA SPORTING GOODS	\$10.19	20	BADGER	4104	\$203.80			No
		BadgerBadger 4104	1 Ea.	Pro Player Supply	\$12.99	20	Badger	Badger 4104	\$259.80	Pink, Kelly, Lime, Optic Pink, Vegas Gold, Safety Yellow, White, Cardinal, Green, Graphite, Royal, Silver, Black &	Delivery Time - 2 Weeks. Available in 25 colors - Black, Maroon, Navy, Orange, Gold, Purple, Pink, Kelly, Lime, Optic Pink, Vegas Gold, Safety Yellow, White, Cardinal, Green, Graphite, Royal, Silver, Black & Red. Men's sizes S-5XL - Upcharge for 3XL & HIGHER \$3.50	No
97	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		6						No
			1 Ea.	The REC		6						No
			1 Ea.	School Specialty Inc		6						No
		BADGER4621	1 Ea.	BSN Sports	\$8.18	6	BADGER	4621	\$49.08			No
		BADGER4621	1 Ea.	BARCELONA SPORTING GOODS	\$13.00	6	BADGER	4621	\$78.00			No
		BadgerBadger / 4621	1 Ea.	Pro Player Supply	\$29.99	6	Badger	Badger / 4621	\$179.94	Delivery Time - 2 Weeks. Available Colors: Black, Navy, Red, Royal, Green, Burnt Orange, White. Men's sizes S-3XL	Delivery Time - 2 Weeks. Available Colors : Black, Navy, Red, Royal, Green, Burnt Orange, White. Men's sizes S-3XL	No
98	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		50						No
			1 Ea.	The REC		50						No
			1 Ea.	School Specialty Inc		50						No
		RUSSELL64STTM0	1 Ea.	BARCELONA SPORTING GOODS	\$5.20	50	RUSSELL	64STTM0	\$260.00			No
		RUSSELL64STTM0	1 Ea.	BSN Sports	\$6.31	50	RUSSELL	64STTM0	\$315.50			No

		RussellRussell / 64STTM0	1 Ea.	Pro Player Supply	\$9.99	50	Russell	Russell / 64STTM0	\$499.50	Delivery Time - 3 Weeks. Available Colors - Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	Delivery Time - 3 Weeks. Available Colors - Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	No
99	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Number	1 Pr.	MFAC, LLC		72						No
			1 Pr.	The REC		72						No
			1 Pr.	School Specialty Inc		72						No
		ASICSG306Y	1 Pr.	BSN Sports	\$33.51	72	ASICS	G306Y	\$2,412.72			No
		ASICSG306Y	1 Pr.	BARCELONA SPORTING GOODS	\$41.10	72	ASICS	G306Y	\$2,959.20			No
		AsicsAsics HyperSprint 7 -(Hyper Sprint 5 Discontinued) 1091A015 001	1 Pr.	Pro Player Supply	\$53.96	72	Asics	Asics HyperSprint 7 - (Hyper Sprint 5 Discontinued) 1091A015 001	\$3,885.12	Sprint 5 Discontinued) This is the 2019 Version of the Spike. Currently Good Stock. Sizes: 6-13. 2020 Version Coming out in August, stock quantities could change, 2020 version price would be	Sprint 5 Discontinued) This is the 2019 Version of the Spike. Currently Good Stock. Sizes: 6-	No
100	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		21						No
			1 Pr.	The REC		21						No
			1 Pr.	School Specialty Inc		21						No
		ASICST2F4N	1 Pr.	BARCELONA SPORTING GOODS	\$34.00	21	ASICS	T2F4N	\$714.00			No
		ASICST2F4N	1 Pr.	BSN Sports	\$35.00	21	ASICS	T2F4N	\$735.00			No
		AsicsAsics Gel Contend 4 T2F4N Replaced with 2019 Version - Gel Contend 5 - 1011A256 001	1 Pr.	Pro Player Supply	\$56.76	21	Asics	Asics Gel Contend 4 T2F4N Replaced with 2019 Version -	\$1,191.96	Delivery Time - 2 Weeks Men's Sizes 6-13, 14, 15	Delivery Time - 2 Weeks Men's Sizes 6- 13, 14, 15	
101	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		- Praviloci	1 Pr.	MFAC, LLC		20						No
			1 Pr.	Pro Player Supply		20						No
			1 Pr.	The REC		20						No
			1 Pr.	School Specialty Inc		20						No

		ASICSGN812	1 Pr.	BARCELONA SPORTING GOODS	\$65.00	20	ASICS	GN812	\$1,300.00			No
		ASICSGN812	1 Pr.	BSN Sports	\$65.00	20	ASICS	GN812	\$1,300.00			No
102	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		reamser	1 Pr.	MFAC, LLC		3						No
			1 Pr.	Pro Player Supply		3						No
			1 Pr.	The REC		3						No
			1 Pr.	School Specialty Inc		3						No
		ASICSGN804	1 Pr.	BSN Sports	\$65.00	3	ASICS	GN804	\$195.00			No
		ASICSGN804	1 Pr.	BARCELONA SPORTING GOODS	\$89.95	3	ASICS	GN804	\$269.85			No
103	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		9						No
			1 Pr.	Pro Player Supply		9						No
			1 Pr.	The REC		9						No
			1 Pr.	School Specialty Inc		9						No
		ASICSGN702	1 Pr.	BSN Sports	\$65.00	9	ASICS	GN702	\$585.00			No
		ASICSGN702	1 Pr.	BARCELONA SPORTING GOODS	\$89.95	9	ASICS	GN702	\$809.55			No
104	SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		62						No
			1 Ea.	The REC		62						No
			1 Ea.	School Specialty Inc		62						No
		BADGER4607	1 Ea.	BSN Sports	\$9.06	62	BADGER	4607	\$561.72			No
		BADGER4607	1 Ea.	BARCELONA SPORTING GOODS	\$10.90	62	BADGER	4607	\$675.80			No
		BadgerBadger / 4607	1 Ea.	Pro Player Supply	\$12.97	62	Badger	Badger / 4607	\$804.14	Delivery Time - 2 Weeks. Sizes S-3XL - Black, Forest Green, Graphite, Maroon, Navy, Red, Royal, Silver, White	Delivery Time - 2 Weeks. Sizes S-3XL - Black, Forest Green, Graphite, Maroon, Navy, Red, Royal, Silver, White	No
105	SHOT / DISCUS CARRIER High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	School Specialty Inc		26						No
		PORT A PITASDCXXXX	1 Ea.	BSN Sports	\$4.43	26	PORT A PIT	ASDCXXXX	\$115.18	ALT BSN SPORTS PORT A PIT ASDCXXXX	ALT BSN SPORTS PORT A PIT ASDCXXXX	No
		CHAMPIONSD10	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.99	26	CHAMPION	SD10	\$155.74			No
		CHAMPIONSD10	1 Ea.	BARCELONA SPORTING GOODS	\$6.95	26	CHAMPION	SD10	\$180.70			No
		ChampionSD10	1 Ea.	The REC	\$9.23	26	Champion	SD10	\$239.98	Alternate - Port A Pit	Alternate - Port A Pit	No
		MFAC, LLC6081-12	1 Ea.	MFAC, LLC	\$13.00	26	MFAC, LLC	12/01/6081	\$338.00	https://www.everything trackandfield.com/Shot and-Discus-Carrier	https://www.everythingtra ckandfield.com/Shot-and- Discus-Carrier	No
		Champion / SD10Champion / SD10	1 Ea.	Pro Player Supply	\$15.99	26	Champion / SD10	Champion / SD10	\$415.74			No
		CHAMPIONSD10	1 Ea.	aluminum athletic equipment co	\$18.00	26	CHAMPION	SD10	\$468.00			No

106	SHOT PUT High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		15						No
			1 Ea.	Pro Player Supply		15						No
			1 Ea.	School Specialty Inc		15						No
		BSN SPORTSARSHOT12	1 Ea.	BSN Sports	\$18.38	15	BSN SPORTS	ARSHOT12	\$275.70			No
		BSNARSHOT12	1 Ea.	The REC	\$22.29	15	BSN	ARSHOT12	\$334.35			No
		MFAC, LLC6031-12	1 Ea.	MFAC, LLC	\$31.75	15	MFAC, LLC	12/01/6031	\$476.25	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=4	https://www.everythingtra ckandfield.com/First- Place-Cast-Iron- Shot?custcol2=4	No
		AAE12I	1 Ea.	aluminum athletic equipment co	\$37.95	15	AAE	121	\$569.25			No
107	SHOT PUT High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		8						No
			1 Ea.	School Specialty Inc		8						No
		CHAMPROTSC112	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$39.98	8	CHAMPRO	TSC112	\$319.84	**STEEL**	**STEEL**	No
		PORT A PITABSHOT12	1 Ea.	BSN Sports	\$87.00	8	PORT A PIT	ABSHOT12	\$696.00	ALT BSN SPORTS/ PORT A PIT ABSHOT12	ALT BSN SPORTS/ PORT A PIT ABSHOT12	No
		CHAMPIONTS812	1 Ea.	aluminum athletic equipment co	\$105.00	8	CHAMPION	TS812	\$840.00			No
		MFAC, LLC6032-12	1 Ea.	MFAC, LLC	\$115.00	8	MFAC, LLC	12/01/6032	\$920.00	https://www.everything trackandfield.com/First- Place-Competition- Brass- Shot?custcol2=4	https://www.everythingtra ckandfield.com/First- Place-Competition-Brass- Shot?custcol2=4	No
		ChamproTS812	1 Ea.	The REC	\$127.39	8	Champro	TS812	\$1,019.12	Alternate - BSN	Alternate - BSN	No
		CHAMPROTS812	1 Ea.	BARCELONA SPORTING GOODS	\$170.00	8	CHAMPRO	TS812	\$1,360.00			No
108	SPIKES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Bag	Pro Player Supply		6						No
			1 Bag	School Specialty Inc		6						No
		BSN SPORTSAASPKP18	1 Bag	BSN Sports	\$7.56	6	BSN SPORTS	AASPKP18	\$45.36	ALT BSN SPORTS/ AASPKP18	ALT BSN SPORTS/ AASPKP18	No
		MFAC, LLC6650-1/8	1 Bag	MFAC, LLC	\$8.00	6	MFAC, LLC	01/08/6650	\$48.00		https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of- 100?custcol20=1	No
		AAE1/8P-100	1 Bag	aluminum athletic equipment co	\$9.00	6	AAE	1/8P-100	\$54.00			No
		ATHLETIC SPECIALTIESTSP18	1 Bag	BARCELONA SPORTING GOODS	\$10.75	6	ATHLETIC SPECIALTIES	TSP18	\$64.50			No
		Gopher1/8" Spike	1 Bag	Gopher Sport	\$11.65	6	Gopher	1/8" Spike	\$69.90	0717-08-01	0717-08-01	No
		Athletic SpecialtiesTSP18	1 Bag	The REC	\$13.11	6	Athletic Specialties	TSP18	\$78.66	Alternate - Blazer	Alternate - Blazer	No
109	SPIKES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Bag	Pro Player Supply		23						No
			1 Bag	School Specialty Inc		23						No
		BSN SPORTSAASPKP14	1 Bag	BSN Sports	\$7.56	23	BSN SPORTS	AASPKP14	\$173.88	ALT BSN SPORTS /AASPKP14	ALT BSN SPORTS /AASPKP14	No

		MFAC, LLC6650-1/4	1 Bag	MFAC, LLC	\$8.00	23	MFAC, LLC	01/04/6650	\$184.00	https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100?custcol20=3	https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of- 100?custcol20=3	No
		AAE1/4P-100	1 Bag	aluminum athletic equipment co	\$9.00	23	AAE	1/4P-100	\$207.00			No
		ATHLETIC SPECIALTIESTSP14	1 Bag	BARCELONA SPORTING GOODS	\$10.95	23	ATHLETIC SPECIALTIES	TSP14	\$251.85			No
		Gopher1/4"	1 Bag	Gopher Sport	\$12.55	23	Gopher	1/4"	\$288.65	0718-08-01	0718-08-01	No
		Athletic SpecialtiesTSP14	1 Bag	The REC	\$13.11	23	Athletic Specialties	TSP14	\$301.53	Alternate - Blazer	Alternate - Blazer	No
110	UNIFORM JERSEY High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		90						No
			1 Ea.	The REC		90						No
			1 Ea.	School Specialty Inc		90						No
		BADGER8662	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	90	BADGER	8662	\$656.10			No
		BADGER8662	1 Ea.	BSN Sports	\$7.60	90	BADGER	8662	\$684.00			No
		BadgerBadger / 8662	1 Ea.	Pro Player Supply	\$9.39	90	Badger	Badger / 8662	\$845.10	Delivery Time - 3 Weeks. Colors: Blk, Orng, Columbia, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-3XL - One color screen school name across front.	Delivery Time - 3 Weeks. Colors: Blk, Orng, Columbia, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-3XL - One color screen school name across front.	No
111	UNIFORM SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
												NI-
			1 Ea.	MFAC, LLC		108						No
				MFAC, LLC The REC		108 108						No
			1 Ea.	· ·								
		BADGER7272	1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports	\$7.24	108	BADGER	7272	\$781.92			No
			1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc	\$7.24 \$8.78	108 108	BADGER BADGER	7272 7272	\$781.92 \$948.24			No No
		BADGER7272 BADGER7272 Badger / 7272Badger / 7272	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA	*	108 108 108		7272	1	Delivery Time - 2 Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Delivery Time - 2 Weeks. FREE SHIPPING - Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger /	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS	\$8.78	108 108 108 108	BADGER	7272	\$948.24 \$1,074.60	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red,	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger / 7272 Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS Pro Player Supply	\$8.78	108 108 108 108	BADGER Badger / 7272	7272 Badger / 7272	\$948.24 \$1,074.60	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No No
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger / 7272 Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. Unit of Measure	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier	\$8.78	108 108 108 108 108	BADGER Badger / 7272	7272 Badger / 7272	\$948.24 \$1,074.60	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No No Award Status
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger / 7272 Manufacturer & Part Number	1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC The REC School Specialty Inc	\$8.78	108 108 108 108 108 108	BADGER Badger / 7272	Part Number	\$948.24 \$1,074.60 Total Price	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No No Award Status
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger / 7272 Manufacturer & Part Number RUSSELL695HBM1/696 HBM0	1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC The REC	\$8.78	108 108 108 108 108 108 216	BADGER Badger / 7272	Part Number 695HBM1/696HBM0	\$948.24 \$1,074.60 Total Price \$6,717.60	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No Award Status No No
112	WARM-UPS High	BADGER7272 BADGER7272 Badger / 7272Badger / 7272 Manufacturer & Part Number RUSSELL695HBM1/696	1 Ea.	The REC School Specialty Inc BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC The REC School Specialty Inc BARCELONA	\$8.78 \$9.95 Bid Price	108 108 108 108 108 108 216 216	BADGER Badger / 7272 Manufacturer	7272 Badger / 7272 Part Number 695HBM1/696H	\$948.24 \$1,074.60 Total Price \$6,717.60	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL -	Weeks. FREE SHIPPING -Colors- Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS- 3XL -	No No No No Award Status No No

		RussellRussell / 695HBM1/ 696HBM0	1 Set	Pro Player Supply	\$34.65	216	Russell	Russell / 695HBM1/ 696HBM0	\$7,484.40	Delivery Time - 3 WeeksDecoration: One color screen any Color, Colors: Ash, Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL.	Delivery Time - 3 WeeksDecoration: One color screen any Color, Colors: Ash, Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL.	No
113	WATCHES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	Pro Player Supply		45						No
			1 Ea.	The REC		45						No
			1 Ea.	School Specialty Inc		45						No
		ACCUSPLITAX725BK	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$14.89	45	ACCUSPLIT	AX725BK	\$670.05			No
		ACCUSPLITAX725	1 Ea.	BSN Sports	\$15.87	45	ACCUSPLIT	AX725	\$714.15	BSN SPORTS MSSTP725	BSN SPORTS MSSTP725	No
		ACCUSPLITAX725BK	1 Ea.	BARCELONA SPORTING GOODS	\$16.70	45	ACCUSPLIT	AX725BK	\$751.50			No
		ACCUSPLITAX725PRO	1 Ea.	MFAC, LLC	\$21.50	45	ACCUSPLIT	AX725PRO	\$967.50			No
		AccusplitAX725	1 Ea.	Gopher Sport	\$24.25	45	Accusplit	AX725	\$1,091.25	91-862	91-862	No
		ACCUSPLITAX725	1 Ea.	aluminum athletic equipment co	\$26.00	45	ACCUSPLIT	AX725	\$1,170.00			No
114	WATCHES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		12						No
			1 Ea.	The REC		12						No
			1 Ea.	BSN Sports		12						No
			1 Ea.	School Specialty Inc		12						No
		ACCUSPLITAX740	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$23.89	12	ACCUSPLIT	AX740	\$286.68			No
		ACCUSPLITAX740	1 Ea.	BARCELONA SPORTING GOODS	\$25.00	12	ACCUSPLIT	AX740	\$300.00			No
		ACCUSPLITAX740	1 Ea.	aluminum athletic equipment co	\$28.00	12	ACCUSPLIT	AX740	\$336.00			No
		ACCUSPLITAX740PRO	1 Ea.	MFAC, LLC	\$29.00	12	ACCUSPLIT	AX740PRO	\$348.00			No
115	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		15						No
			1 Ea.	The REC		15						No
			1 Ea.	BSN Sports		15						No
			1 Ea.	School Specialty Inc		15						No
		ADIDAS5144XXX	1 Ea.	BARCELONA SPORTING GOODS	\$41.20	15	ADIDAS	5144XXX	\$618.00			No
		AdidasAdidas / 5144XXX	1 Ea.	Pro Player Supply	\$69.99	15	Adidas	Adidas / 5144XXX	\$1,049.85	Delivery Time - 3-4 Weeks. Decoration: embroidered team name/logo) - Black, Red, Navy, Royal, Purple, Green, Orange	Delivery Time - 3-4 Weeks. Decoration: embroidered team name/logo) - Black, Red, Navy, Royal, Purple, Green, Orange	No
116	BAGS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		105						No
			1 Ea.	Pro Player Supply		105						No

			1 Ea.	The REC		105						No
			1 Ea.	School Specialty Inc		105						No
		NIKEBA5501	1 Ea.	BSN Sports	\$30.63	105	NIKE	BA5501	\$3,216.15			No
		NIKEBA5501	1 Ea.	BARCELONA SPORTING GOODS	\$32.10	105	NIKE	BA5501	\$3,370.50			No
117	BAR High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		4						No
			1 Ea.	Pro Player Supply		4						No
			1 Ea.	School Specialty Inc		4						No
		BSN SPORTSAFR050BM	1 Ea.	BSN Sports	\$12.58	4	BSN SPORTS	AFR050BM	\$50.32			No
		MFAC, LLC5883-01	1 Ea.	MFAC, LLC	\$19.00	4	MFAC, LLC	01/01/5883	\$76.00	https://www.everything trackandfield.com/Elas tic-Foam-Crossbar	https://www.everythingtra ckandfield.com/Elastic- Foam-Crossbar	No
		BSNAFR050BM	1 Ea.	The REC	\$24.54	4	BSN	AFR050BM	\$98.16			No
118	BAR High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		1						No
			1 Ea.	School Specialty Inc		1						No
		GILL522	1 Ea.	BSN Sports	\$56.26	1	GILL	522	\$56.26	GILL GA522	GILL GA522	No
		GILL522	1 Ea.	BARCELONA SPORTING GOODS	\$64.00	1	GILL	522	\$64.00			No
		Gill522	1 Ea.	The REC	\$137.70	1	Gill	522	\$137.70			No
		GILL522	1 Ea.	MFAC, LLC	\$226.00	1	GILL	522	\$226.00			No
119	BATON High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		56						No
			1 Ea. 1 Ea.			56 56						
		BSN SPORTSAALBAT		SPORTING GOODS	\$1.64		BSN SPORTS	AALBAT	\$91.84			No
		BSN SPORTSAALBAT CHAMPION SPORTSRBRD	1 Ea.	SPORTING GOODS Pro Player Supply	\$1.64 \$2.11	56	BSN SPORTS CHAMPION SPORTS	AALBAT RBRD	\$91.84 \$118.16	SSI# 009812/ RED	SSI# 009812/ RED	No No
		CHAMPION	1 Ea. 1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports	•	56 56	CHAMPION	RBRD 7042-COLOR		SSI# 009812/ RED https://www.everything trackandfield.com/Alu minum-Baton	https://www.everythingtra	No No No No
		CHAMPION SPORTSRBRD MFAC, LLC7042-	1 Ea. 1 Ea. 1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc	\$2.11	56 56 56	CHAMPION SPORTS	RBRD	\$118.16	https://www.everything trackandfield.com/Alu	https://www.everythingtra ckandfield.com/Aluminu	No No No No
		CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR	1 Ea. 1 Ea. 1 Ea. 1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC	\$2.11 \$3.00	56 56 56 56	CHAMPION SPORTS MFAC, LLC	RBRD 7042-COLOR	\$118.16 \$168.00	https://www.everything trackandfield.com/Alu minum-Baton	https://www.everythingtra ckandfield.com/Aluminu m-Baton	No No No No
		CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport	\$2.11 \$3.00 \$3.55	56 56 56 56 56	CHAMPION SPORTS MFAC, LLC Gopher	RBRD 7042-COLOR Depends on	\$118.16 \$168.00 \$198.80	https://www.everything trackandfield.com/Alu minum-Baton	https://www.everythingtra ckandfield.com/Aluminu m-Baton	No No No No No
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic	\$2.11 \$3.00 \$3.55 \$3.59	56 56 56 56 56 56	CHAMPION SPORTS MFAC, LLC Gopher BSN	RBRD 7042-COLOR Depends on color AALBAT	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00	https://www.everything trackandfield.com/Alu minum-Baton	https://www.everythingtra ckandfield.com/Aluminu m-Baton	No No No No No No No No No
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Unit of	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00	56 56 56 56 56 56 56 56	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE	RBRD 7042-COLOR Depends on color AALBAT BA	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00	https://www.everything trackandfield.com/Alu minum-Baton 39-556	https://www.everythingtra ckandfield.com/Aluminu m-Baton 39-556	No No No No No No No No Award
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part	1 Ea. Unit of Measure	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co Supplier	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00	56 56 56 56 56 56 56 56 56 Quantity	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE	RBRD 7042-COLOR Depends on color AALBAT BA	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00	https://www.everything trackandfield.com/Alu minum-Baton 39-556	https://www.everythingtra ckandfield.com/Aluminu m-Baton 39-556	No No No No No No No No Award Status
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part Number Gill412 AAETSB-PRO	1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co Supplier Pro Player Supply	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00 Bid Price	56 56 56 56 56 56 56 56 Quantity	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE Manufacturer Gill AAE	RBRD 7042-COLOR Depends on color AALBAT BA Part Number	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00	https://www.everything trackandfield.com/Alu minum-Baton 39-556	https://www.everythingtra ckandfield.com/Aluminu m-Baton 39-556 Supplier Notes	No No No No No No No No Award Status
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part Number Gill412	1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co Supplier Pro Player Supply The REC aluminum athletic	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00 Bid Price	56 56 56 56 56 56 56 56 Quantity 5	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE Manufacturer Gill	RBRD 7042-COLOR Depends on color AALBAT BA Part Number	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00 Total Price \$345.25	https://www.everything trackandfield.com/Alu minum-Baton 39-556 Item Response Notes Alternate - Port A Pit	https://www.everythingtrackandfield.com/Aluminum-Baton 39-556 Supplier Notes Alternate - Port A Pit SSI# 025272	No No No No No No No Award Status No
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part Number Gill412 AAETSB-PRO LITANIA SPORTS	1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co Supplier Pro Player Supply The REC aluminum athletic equipment co	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00 Bid Price \$69.05 \$105.00	56 56 56 56 56 56 56 56 56 56	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE Manufacturer Gill AAE LITANIA	RBRD 7042-COLOR Depends on color AALBAT BA Part Number 412 TSB-PRO	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00 Total Price \$345.25 \$525.00	https://www.everything trackandfield.com/Alu minum-Baton 39-556 Item Response Notes Alternate - Port A Pit	https://www.everythingtra ckandfield.com/Aluminu m-Baton 39-556 Supplier Notes Alternate - Port A Pit	No N
120	BLOCKS High	CHAMPION SPORTSRBRD MFAC, LLC7042- COLOR GopherDepends on color BSNAALBAT AAEBA Manufacturer & Part Number Gill412 AAETSB-PRO LITANIA SPORTS GROUP INC412	1 Ea.	SPORTING GOODS Pro Player Supply BSN Sports School Specialty Inc MFAC, LLC Gopher Sport The REC aluminum athletic equipment co Supplier Pro Player Supply The REC aluminum athletic equipment co School Specialty Inc	\$2.11 \$3.00 \$3.55 \$3.59 \$7.00 Bid Price \$69.05 \$105.00 \$105.10	56 56 56 56 56 56 56 56 56 56	CHAMPION SPORTS MFAC, LLC Gopher BSN AAE Manufacturer Gill AAE LITANIA SPORTS	RBRD 7042-COLOR Depends on color AALBAT BA Part Number 412 TSB-PRO	\$118.16 \$168.00 \$198.80 \$201.04 \$392.00 Total Price \$345.25 \$525.00 \$525.50	https://www.everything trackandfield.com/Alu minum-Baton 39-556 Item Response Notes Alternate - Port A Pit SSI# 025272 BSN SPORTS / GILL	https://www.everythingtra ckandfield.com/Aluminu m-Baton 39-556 Supplier Notes Alternate - Port A Pit SSI# 025272 BSN SPORTS / GILL	No N

121	DISCUS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		5						No
			1 Ea.	School Specialty Inc		5						No
		PORT A PIT1101423	1 Ea.	BSN Sports	\$21.56	5	PORT A PIT	1101423	\$107.80	ALT BSN SPORTS PORT A PIT 1101423	ALT BSN SPORTS PORT A PIT 1101423	No
		Gill317	1 Ea.	The REC	\$33.11	5	Gill	317	\$165.55	BSN 1101423	BSN 1101423	No
		AAEWWD	1 Ea.	aluminum athletic equipment co	\$35.00	5	AAE	WWD	\$175.00			No
		GILL317	1 Ea.	BARCELONA SPORTING GOODS	\$49.50	5	GILL	317	\$247.50			No
		GILL317	1 Ea.	MFAC, LLC	\$56.50	5	GILL	317	\$282.50			No
122	DISCUS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	<u> </u>	Number	1 Ea.	Pro Player Supply		4						No
			1 Ea.	The REC		4						No
		GILL819	1 Ea.	BSN Sports		4	GILL	819		BSN SPORTS /GILL GA819	BSN SPORTS /GILL GA819	No
			1 Ea.	School Specialty Inc		4						No
		AAESWD	1 Ea.	aluminum athletic	\$80.00	4	AAE	SWD	\$320.00			No
		GILL819	1 Ea.	MFAC, LLC	\$156.50	4	GILL	819	\$626.00			No
		GILL819	1 Ea.	BARCELONA SPORTING GOODS	\$165.85	4	GILL	819	\$663.40			No
123	HURDLES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		42						No
			1 Ea.	MFAC, LLC		42						No
			1 Ea.	Pro Player Supply		42						No
			1 Ea.	The REC		42						No
			1 Ea.	BSN Sports		42						No
			1 Ea.	School Specialty Inc		42						No
		AAEHSAH-BK	1 Ea.	aluminum athletic equipment co	\$98.00	42	AAE	HSAH-BK	\$4,116.00			No
124	MEASURING TAPE High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	The REC		10						No
		BSN SPORTSMSTAP100	1 Ea.	BSN Sports	\$5.56	10	BSN SPORTS	MSTAP100	\$55.60	ALT BSN SPORTS/ MSTAP100 CLOSED REEL	ALT BSN SPORTS/ MSTAP100 CLOSED REEL	No
		CHAMPIONF100	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.89	10	CHAMPION	F100	\$58.90			No
		CHAMPION SPORTSR100	1 Ea.	School Specialty Inc	\$6.52	10	CHAMPION SPORTS	R100	\$65.20	SSI# 007532	SSI# 007532	No
		CHAMPIONF100	1 Ea.	BARCELONA SPORTING GOODS	\$7.49	10	CHAMPION	F100	\$74.90			No
		ChampionChampion / F100	1 Ea.	Pro Player Supply	\$14.78	10	Champion	Champion / F100	\$147.80	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
		MFAC, LLC7011-100	1 Ea.	MFAC, LLC	\$17.00	10	MFAC, LLC	7011-100	\$170.00	https://www.everything trackandfield.com/Eco nomy-Closed-Reel- Fiberglass-Measuring- Tape?custcol19=6	https://www.everythingtra ckandfield.com/Economy- Closed-Reel-Fiberglass-	No

		CHAMPIONF100	1 Ea.	aluminum athletic equipment co	\$17.00	10	CHAMPION	F100	\$170.00			No
125	MEASURING TAPE High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	The REC		12						No
		BSN SPORTSMSTAP200	1 Ea.	BSN Sports	\$9.28	12	BSN SPORTS	MSTAP200	\$111.36	ALT BSN SPORTS MSTAP200 OPEN REEL	ALT BSN SPORTS MSTAP200 OPEN REEL	No
		CHAMPIONR200	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$10.45	12	CHAMPION	R200	\$125.40			No
		CHAMPION SPORTSR200	1 Ea.	School Specialty Inc	\$10.75	12	CHAMPION SPORTS	R200	\$129.00	SSI# 008399	SSI# 008399	No
		CHAMPIONR200	1 Ea.	BARCELONA SPORTING GOODS	\$12.60	12	CHAMPION	R200	\$151.20			No
		CHAMPIONR200	1 Ea.	aluminum athletic equipment co	\$22.00	12	CHAMPION	R200	\$264.00			No
		MFAC, LLC7012-200	1 Ea.	MFAC, LLC	\$23.00	12	MFAC, LLC	7012-200	\$276.00	https://www.everything trackandfield.com/Eco nomy-Open-Reel- Fiberglass-Measuring- Tape?custcol19=8	ckandfield.com/Economy- Open-Reel-Fiberglass- Measuring- Tape?custcol19=8	No
		ChampionChampion / R200	1 Ea.	Pro Player Supply	\$29.99	12	Champion	Champion / R200	\$359.88	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
26	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		24						No
			1 Ea.	The REC		24						No
			1 Ea.	School Specialty Inc		24						No
		BADGER4760	1 Ea.	BSN Sports	\$16.95	24	BADGER	4760	\$406.80			No
		BADGER4760	1 Ea.	BARCELONA SPORTING GOODS	\$19.99	24	BADGER	4760	\$479.76			No
		BadgerBadger / 4760	1 Ea.	Pro Player Supply	\$21.49	24	Badger	Badger / 4760	\$515.76	Delivery Time - 2 Weeks Black Only - Womens XS-XXL	Delivery Time - 2 Weeks Black Only - Womens XS-XXL	No
27	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		64						No
			1 Ea.	Pro Player Supply		64						No
			1 Ea.	The REC		64						No
			1 Ea.	School Specialty Inc		64						No
	<u>-</u>	NIKE835965	1 Ea.	BSN Sports	\$25.78	64	NIKE	835965	\$1,649.92			No
		NIKE835965	1 Ea.	BARCELONA SPORTING GOODS	\$28.96	64	NIKE	835965	\$1,853.44			No
28	PANTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		61						No
			1 Ea.	Pro Player Supply		61						No
			1 Ea.	The REC		61						No
			1 Ea.	School Specialty Inc		61						No
		NIKE893721	1 Ea.	BSN Sports	\$22.50	61	NIKE	893721	\$1,372.50			No
		NIKE893721	1 Ea.	BARCELONA SPORTING GOODS	\$24.69	61	NIKE	893721	\$1,506.09			No
29	PISTOL High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status

			1 Ea.	Pro Player Supply		8	1					No
			1 Ea.	The REC		8						No
			1 Ea.	BSN Sports		8						No
			1 Ea.	School Specialty Inc		8						No
		WINCHESTER2222	1 Ea.	BARCELONA SPORTING GOODS	\$10.70	8	WINCHESTER	2222	\$85.60			No
		MFAC, LLC664-22	1 Ea.	MFAC, LLC	\$20.00	8	MFAC, LLC	664-22	\$160.00	https://www.everything trackandfield.com/Star ting- Blanks?custcol17=8	nttps://www.everytningtra	No
		WINCHESTER22BL	1 Ea.	aluminum athletic equipment co	\$26.00	8	WINCHESTER	22BL	\$208.00			No
130	REFLECTORS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pkg	MFAC, LLC		19						No
			1 Pkg	Pro Player Supply		19						No
			1 Pkg	The REC		19						No
			1 Pkg	BSN Sports		19						No
			1 Pkg	School Specialty Inc		19						No
		JOGALITE4812A	1 Pkg	BARCELONA SPORTING GOODS	\$14.99	19	JOGALITE	4812A	\$284.81			No
131	REFLECTORS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		8						No
			1 Ea.	Pro Player Supply		8						No
			1 Ea.	The REC		8						No
			1 Ea.	BSN Sports		8						No
			1 Ea.	School Specialty Inc		8						No
		JOGALITE8102	1 Ea.	BARCELONA SPORTING GOODS	\$20.00	8	JOGALITE	8102	\$160.00			No
132	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		143						No
			1 Ea.	The REC		143						No
			1 Ea.	School Specialty Inc		143						No
		BADGER4160	1 Ea.	BSN Sports	\$8.06	143	BADGER	4160	\$1,152.58			No
		BADGER4160	1 Ea.	BARCELONA SPORTING GOODS	\$8.65	143	BADGER	4160	\$1,236.95			No
		BadgerBadger / 4160	1 Ea.	Pro Player Supply	\$8.80	143	Badger	Badger / 4160	\$1,258.40	Weeks Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Cardinal, Green, Graphite, Royal, Red, Safety Yellow, Lime, Electric Blue, Vegas,	Delivery Time - 3 Weeks Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Cardinal, Green, Graphite, Royal, Red, Safety Yellow, Lime, Electric Blue, Vegas,, Columbia Blue, Silver.	No

133	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		35						No
			1 Ea.	The REC		35						No
			1 Ea.	School Specialty Inc		35						No
		BADGER4164	1 Ea.	BSN Sports	\$8.18	35	BADGER	4164	\$286.30			No
		BADGER4164	1 Ea.	BARCELONA SPORTING GOODS	\$9.92	35	BADGER	4164	\$347.20			No
		BadgerBadger / 4164	1 Ea.	Pro Player Supply	\$10.95	35	Badger	Badger / 4164	\$383.25	Delivery Time - 2 Weeks Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Green, Graphite, Royal, Red, Safety Yellow, Silver. Womens XS-2XL. Includes (1) Color Screen Print Logo	Delivery Time - 2 Weeks Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Green, Graphite, Royal, Red, Safety Yellow, Silver. Womens XS-2XL. Includes (1) Color Screen Print Logo	No
134	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		491						No
			1 Ea.	The REC		491						No
			1 Ea.	School Specialty Inc		491						No
		RUSSELL64STTM0	1 Ea.	BARCELONA SPORTING GOODS	\$5.20	491	RUSSELL	64STTM0	\$2,553.20			No
		RUSSELL64STTM0	1 Ea.	BSN Sports	\$6.31	491	RUSSELL	64STTM0	\$3,098.21			No
		RussellRussell / 64STTM0	1 Ea.	Pro Player Supply	\$6.84	491	Russell	Russell / 64STTM0	\$3,358.44	Delivery Time - 3 Weeks. Available Colors - Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	Delivery Time - 3 Weeks. Available Colors Oxford, Cardinal, Maroon, Purple, Red, Royal, Navy, Forrest, Orange, Graphite, Gold, Royal, Collegiate Blue, White, Teal, Vintage Navy, Vintage Red, Sizes - S-3XL, 1 Color Screen Print Logo**	No
135	SHIRTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		40						No
			1 Ea.	The REC		40						No
			1 Ea.	School Specialty Inc		40						No
		BADGER4163	1 Ea.	BSN Sports	\$8.06	40	BADGER	4163	\$322.40			No
		BADGER4163	1 Ea.	BARCELONA SPORTING GOODS	\$8.65	40	BADGER	4163	\$346.00			No

		BadgerBadger / 4163	1 Ea.	Pro Player Supply	\$15.68	40	Badger	Badger / 4163	\$627.20	Delivery Time - 3 Weeks. Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Green, Graphite, Royal, Red, Safety Yellow, Silver. Womens XS-2XL. Includes (1) Color Screen Print Logo	Delivery Time - 3 Weeks. Available Colors: Black, Maroon, Navy, Orange, Gold, Purple, Pink, White, Green, Graphite, Royal, Red, Safety Yellow, Silver. Womens XS-2XL. Includes (1) Color Screen Print Logo	No
136	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	<u> </u>	rumber	1 Pr.	MFAC, LLC		31						No
			1 Pr.	Pro Player Supply		31						No
			1 Pr.	The REC		31						No
			1 Pr.	School Specialty Inc		31						No
		ASICSG357Y	1 Pr.	BSN Sports	\$33.51	31	ASICS	G357Y	\$1,038.81			No
		ASICSG357Y	1 Pr.	BARCELONA SPORTING GOODS	\$41.10	31	ASICS	G357Y	\$1,274.10			No
137	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		20						No
			1 Pr.	Pro Player Supply		20						No
			1 Pr.	The REC		20						No
			1 Pr.	School Specialty Inc		20						No
		ASICSG355N	1 Pr.	BSN Sports	\$33.51	20	ASICS	G355N	\$670.20			No
		ASICSG355N	1 Pr.	BARCELONA SPORTING GOODS	\$41.10	20	ASICS	G355N	\$822.00			No
138	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		31						No
			1 Pr.	The REC		31						No
			1 Pr.	BSN Sports		31						No
			1 Pr.	School Specialty Inc		31						No
		ASICST2F9N	1 Pr.	BARCELONA SPORTING GOODS	\$34.00	31	ASICS	T2F9N	\$1,054.00			No
		AsicsAsics Gel Contend 4 T2F4N Replaced with 2019 Version - Gel Contend 5 - 1011A256 001	1 Pr.	Pro Player Supply	\$59.63	31	Asics	Asics Gel Contend 4 T2F4N Replaced with 2019 Version -	\$1,848.53	Delivery Time - 2 Weeks Womens 5- 12	Delivery Time - 2 Weeks Womens 5-12	No
139	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		15						No
			1 Pr.	Pro Player Supply		15						No
			1 Pr.	The REC		15						No
			1 Pr.	School Specialty Inc		15						No
		ASICSGN812	1 Pr.	BARCELONA SPORTING GOODS	\$65.00	15	ASICS	GN812	\$975.00			No
		ASICSGN812	1 Pr.	BSN Sports	\$65.00	15	ASICS	GN812	\$975.00			No
140	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status

		1	T	L	1		1	1	1	1		
			1 Pr.	MFAC, LLC		3						No
			1 Pr.	Pro Player Supply		3						No
			1 Pr.	The REC		3						No
			1 Pr.	School Specialty Inc		3						No
		ASICSGN804	1 Pr.	BSN Sports	\$65.00	3	ASICS	GN804	\$195.00			No
		ASICSGN804	1 Pr.	BARCELONA SPORTING GOODS	\$89.95	3	ASICS	GN804	\$269.85			No
141	SHOES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Pr.	MFAC, LLC		4						No
			1 Pr.	Pro Player Supply		4						No
			1 Pr.	The REC		4						No
			1 Pr.	School Specialty Inc		4						No
		ASICSGN702	1 Pr.	BSN Sports	\$65.00	4	ASICS	GN702	\$260.00			No
		ASICSGN702	1 Pr.	BARCELONA SPORTING GOODS	\$89.95	4	ASICS	GN702	\$359.80			No
142	SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		132						No
			1 Ea.	The REC		132						No
			1 Ea.	School Specialty Inc		132						No
		BADGER4614	1 Ea.	BSN Sports	\$8.42	132	BADGER	4614	\$1,111.44			No
		BADGER4614	1 Ea.	BARCELONA SPORTING GOODS	\$9.75	132	BADGER	4614	\$1,287.00			No
		BadgerBadger / 4614	1 Ea.	Pro Player Supply	\$10.15	132	Badger	Badger / 4614	\$1,339.80	Delivery Time - 2 Weeks Colors: Black, Navy, Red, Royal - Women's sizes XS-XXL	Delivery Time - 2 Weeks Colors: Black, Navy, Red, Royal - Women's sizes XS-XXL	No
143	SHOT / DISCUS CARRIER High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	CARRIER High	Number	1 Ea.	Pro Player Supply		9						No
			1 Ea.	School Specialty Inc		9						No
		PORT A PITASDCXXXX		BSN Sports	\$4.43	9	PORT A PIT	ASDCXXXX	\$39.87	ALT BSN SPORTS/ PORT A PIT ASDCXXXX	ALT BSN SPORTS/ PORT A PIT ASDCXXXX	No
		CHAMPIONSD10	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.99	9	CHAMPION	SD10	\$53.91			No
		CHAMPIONSD10	1 Ea.	BARCELONA SPORTING GOODS	\$6.95	9	CHAMPION	SD10	\$62.55			No
		ChampionSD10	1 Ea.	The REC	\$9.59	9	Champion	SD10	\$86.31	Alternate - Port A Pit		No
		MFAC, LLC6081-12	1 Ea.	MFAC, LLC	\$13.00	9	MFAC, LLC	12/01/6081	\$117.00	https://www.everything trackandfield.com/Shot and-Discus- Carrier?custcol17=6	https://www.everythingtra ckandfield.com/Shot-and- Discus- Carrier?custcol17=6	No
		CHAMPIONSD10	1 Ea.	aluminum athletic equipment co	\$18.00	9	CHAMPION	SD10	\$162.00			No
144	SHOT PUT High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		8						No
			1 Ea.	Pro Player Supply		8						No
			1 Ea.	School Specialty Inc	<u> </u>	8						No
				. ,								

		BSN SPORTSARSHOT4K	1 Ea.	BSN Sports	\$14.28	8	BSN SPORTS	ARSHOT4K	\$114.24			No
		BSNARSHOT4K	1 Ea.	The REC	\$20.38	8	BSN	ARSHOT4K	\$163.04			No
		MFAC, LLC6031-4.0	1 Ea.	MFAC, LLC	\$25.75	8	MFAC, LLC	6031-4.0	\$206.00	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtra	No
		AAE`4KI	1 Ea.	aluminum athletic equipment co	\$29.00	8	AAE	`4KI	\$232.00			No
145	SHOT PUT High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		6						No
			1 Ea.	The REC		6						No
			1 Ea.	BSN Sports		6						No
			1 Ea.	School Specialty Inc		6						No
		CHAMPIONTSC112	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$39.98	6	CHAMPION	TSC112	\$239.88	**STEEL**	**STEEL**	No
		AAE4KB	1 Ea.	aluminum athletic equipment co	\$95.00	6	AAE	4KB	\$570.00			No
		MFAC, LLC6032-4.0	1 Ea.	MFAC, LLC	\$109.00	6	MFAC, LLC	6032-4.0	\$654.00	https://www.everything trackandfield.com/First- Place-Competition- Brass- Shot?custcol2=70	https://www.everythingtra ckandfield.com/First- Place-Competition-Brass- Shot?custcol2=70	No
		CHAMPROTS84K	1 Ea.	BARCELONA SPORTING GOODS	\$169.00	6	CHAMPRO	TS84K	\$1,014.00			No
146	SPIKES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Bag	Pro Player Supply		2						No
			1 Bag	School Specialty Inc		2						No
		Athletic SpecialtiesTSP18	1 Bag	The REC	\$7.50	2	Athletic Specialties	TSP18	\$15.00			No
		DOM								ALT BSN SPORTS	ALT BSN SPORTS	
		BSN SPORTSAASPKP18	1 Bag	BSN Sports	\$7.56	2	BSN SPORTS	AASPKP18	\$15.12	AASPKP18	AASPKP18	No
			1 Bag 1 Bag	BSN Sports MFAC, LLC	\$7.56 \$8.00	2	BSN SPORTS MFAC, LLC	01/08/6650	\$15.12 \$16.00		AASPKP18 https://www.everythingtra	No No
		SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100		MFAC, LLC aluminum athletic equipment co	·		MFAC, LLC			AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of-	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100	
		SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18	1 Bag 1 Bag 1 Bag	MFAC, LLC	\$8.00	2	MFAC, LLC	01/08/6650	\$16.00	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of-	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100	No No
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC	1 Bag	MFAC, LLC aluminum athletic equipment co BARCELONA	\$8.00	2	MFAC, LLC AAE ATHLETIC	01/08/6650 1/8P-100	\$16.00 \$18.00 \$21.50	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of-	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100	No No
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part	1 Bag 1 Bag 1 Bag Unit of	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS	\$8.00 \$9.00 \$10.75	2 2 2	MFAC, LLC AAE ATHLETIC SPECIALTIES	01/08/6650 1/8P-100 TSP18	\$16.00 \$18.00 \$21.50	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes	No No No Award
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part Number	1 Bag 1 Bag 1 Bag Unit of Measure	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS Supplier	\$8.00 \$9.00 \$10.75	2 2 2 Quantity	MFAC, LLC AAE ATHLETIC SPECIALTIES	01/08/6650 1/8P-100 TSP18	\$16.00 \$18.00 \$21.50	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes	No No Award Status
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part	1 Bag 1 Bag 1 Bag Unit of Measure 1 Bag	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS Supplier Pro Player Supply	\$8.00 \$9.00 \$10.75	2 2 2 Quantity 20	MFAC, LLC AAE ATHLETIC SPECIALTIES	01/08/6650 1/8P-100 TSP18	\$16.00 \$18.00 \$21.50	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100 Item Response Notes ALT BSN SPORTS AASPKP14	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes ALT BSN SPORTS AASPKP14	No No Award Status No
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part Number BSN	1 Bag 1 Bag Unit of Measure 1 Bag 1 Bag	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS Supplier Pro Player Supply School Specialty Inc	\$8.00 \$9.00 \$10.75 Bid Price	2 2 2 Quantity 20 20	MFAC, LLC AAE ATHLETIC SPECIALTIES Manufacturer	01/08/6650 1/8P-100 TSP18 Part Number	\$16.00 \$18.00 \$21.50 Total Price	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100 Item Response Notes ALT BSN SPORTS AASPKP14 https://www.everything	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes ALT BSN SPORTS AASPKP14 https://www.everythingtra ckandfield.com/Pyramid-	No No Award Status No No
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part Number BSN SPORTSAASPKP14 MFAC, LLC6650-1/4 AAE1/4P-100	1 Bag 1 Bag 1 Bag Unit of Measure 1 Bag 1 Bag 1 Bag	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS Supplier Pro Player Supply School Specialty Inc BSN Sports MFAC, LLC aluminum athletic equipment co	\$8.00 \$9.00 \$10.75 Bid Price \$7.56	2 2 2 Quantity 20 20 20	MFAC, LLC AAE ATHLETIC SPECIALTIES Manufacturer BSN SPORTS MFAC, LLC AAE	01/08/6650 1/8P-100 TSP18 Part Number AASPKP14	\$16.00 \$18.00 \$21.50 Total Price \$151.20	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100 Item Response Notes ALT BSN SPORTS AASPKP14 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of-	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes ALT BSN SPORTS AASPKP14 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of- 100?custcol20=3	No No Award Status No No No
147	SPIKES High	SPORTSAASPKP18 MFAC, LLC6650-1/8 AAE1/8P-100 ATHLETIC SPECIALTIESTSP18 Manufacturer & Part Number BSN SPORTSAASPKP14 MFAC, LLC6650-1/4	1 Bag 1 Bag Unit of Measure 1 Bag 1 Bag 1 Bag 1 Bag	MFAC, LLC aluminum athletic equipment co BARCELONA SPORTING GOODS Supplier Pro Player Supply School Specialty Inc BSN Sports MFAC, LLC aluminum athletic	\$8.00 \$9.00 \$10.75 Bid Price \$7.56 \$8.00	2 2 2 Quantity 20 20 20 20	MFAC, LLC AAE ATHLETIC SPECIALTIES Manufacturer BSN SPORTS MFAC, LLC	01/08/6650 1/8P-100 TSP18 Part Number AASPKP14 01/04/6650	\$16.00 \$18.00 \$21.50 Total Price \$151.20 \$160.00	AASPKP18 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of- 100 Item Response Notes ALT BSN SPORTS AASPKP14 https://www.everything trackandfield.com/Pyra mid-Spikes-Bag-of-	AASPKP18 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of-100 Supplier Notes ALT BSN SPORTS AASPKP14 https://www.everythingtra ckandfield.com/Pyramid- Spikes-Bag-of- 100?custcol20=3	No No Award Status No No No No No No

148	TOE BOARD High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		1						No
			1 Ea.	Pro Player Supply		1						No
			1 Ea.	School Specialty Inc		1						No
		BSN SPORTS1126143	1 Ea.	BSN Sports	\$143.00	1	BSN SPORTS	1126143	\$143.00			No
		BSN1126143	1 Ea.	The REC	\$179.11	1	BSN	1126143	\$179.11			No
		MFAC, LLC7219-02	1 Ea.	MFAC, LLC	\$269.00	1	MFAC, LLC	02/01/7219	\$269.00	https://www.everything trackandfield.com/Poly Shot-Put-Toe-Board	https://www.everythingtra ckandfield.com/Poly- Shot-Put-Toe-Board	No
		AAESTB	1 Ea.	aluminum athletic equipment co	\$395.00	1	AAE	STB	\$395.00			No
149	UNIFORM JERSEY High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		102						No
			1 Ea.	The REC		102						No
			1 Ea.	School Specialty Inc		102						No
		BADGER8962	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	102	BADGER	8962	\$743.58			No
		BADGER8962	1 Ea.	BSN Sports	\$7.60	102	BADGER	8962	\$775.20			No
		BadgerBadger / 8962	1 Ea.	Pro Player Supply	\$10.23	102	Badger	Badger / 8962	\$1,043.46	Delivery Time - 3 Weeks Colors: Black, Orange, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White - Sizes XS-XXL - One color screen school name across front	Delivery Time - 3 Weeks Colors: Black, Orange, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White - Sizes XS- XXL - One color screen school name across front	
150	UNIFORM SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	riigii	reamoci	1 Ea.	MFAC, LLC		34						No
			1 Ea.	The REC		34						No
			1 Ea.	School Specialty Inc		34						No
		BADGER7278	1 Ea.	BSN Sports	\$7.24	34	BADGER	7278	\$246.16			No
		BADGER7278	1 Ea.	BARCELONA	\$8.78	34	BADGER	7278	\$298.52			No
		BadgerBadger / 7278	1 Ea.	Pro Player Supply	\$9.76	34	Badger	Badger / 7278	\$331.84	Delivery Time - 2 WeeksColors: Black, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Women's sizes XS-XXL	Delivery Time - 2 WeeksColors: Black, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Women's sizes XS-XXL	No
								D (1)	Total Briss			Award
151	WARM-UPS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	I otal Price	Item Response Notes	Supplier Notes	Status
151	WARM-UPS High			Supplier MFAC, LLC	Bid Price	Quantity 86	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Status No
151	WARM-UPS High		Measure	**	Bid Price		Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	
151	WARM-UPS High		Measure 1 Set	MFAC, LLC	Bid Price	86	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	No

		RUSSELL695HBM1 / 696HBM0	1 Set	BSN Sports	\$34.50	86	RUSSELL	695HBM1 / 696HBM0	\$2,967.00			No
		RussellRussell / 695HBM1/ 696HBM0	1 Set	Pro Player Supply	\$36.94	86	Russell	Russell / 695HBM1/ 696HBM0	\$3,176.84	Delivery Time - 3 Weeks Decoration: (1) color screen logo. Colors - Ash, Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL - Screen on chest of top and upper left leg of pant.	Delivery Time - 3 Weeks Decoration: (1) color screen logo. Colors - Ash, Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL - Screen on chest of top and upper left leg of pant.	
152	WATCHES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		18						No
			1 Ea.	The REC		18						No
			1 Ea.	School Specialty Inc		18						No
		ACCUSPLITAX725BK	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$14.89	18	ACCUSPLIT	AX725BK	\$268.02			No
		ACCUSPLITAX725	1 Ea.	BSN Sports	\$15.87	18	ACCUSPLIT	AX725	\$285.66	BSN SPORTS / ACCUSPLIT MSSTP725	BSN SPORTS / ACCUSPLIT MSSTP725	No
		ACCUSPLITAX725BK	1 Ea.	BARCELONA SPORTING GOODS	\$16.70	18	ACCUSPLIT	AX725BK	\$300.60			No
		AccusplitAX725PRO	1 Ea.	MFAC, LLC	\$21.50	18	Accusplit	AX725PRO	\$387.00			No
		AccusplitAX725	1 Ea.	Gopher Sport	\$24.25	18	Accusplit	AX725	\$436.50	91-862	91-862	No
		ACCUSPLITAX725	1 Ea.	aluminum athletic equipment co	\$26.00	18	ACCUSPLIT	AX725	\$468.00			No
153	WATCHES High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		15						No
			1 Ea.	The REC		15						No
			1 Ea.	BSN Sports		15						No
			1 Ea.	School Specialty Inc		15						No
		ACCUSPLITAX740	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$23.89	15	ACCUSPLIT	AX740	\$358.35			No
		ACCUSPLITAX740	1 Ea.	BARCELONA SPORTING GOODS	\$25.00	15	ACCUSPLIT	AX740	\$375.00			No
		ACCUSPLITAX740	1 Ea.	aluminum athletic equipment co	\$28.00	15	ACCUSPLIT	AX740	\$420.00			No
		AccusplitAX740PRO	1 Ea.	MFAC, LLC	\$29.00	15	Accusplit	AX740PRO	\$435.00			No
154	SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		48						No
			1 Ea.	The REC		48						No
			1 Ea.	School Specialty Inc		48		_				No
		BADGER4614	1 Ea.	BSN Sports	\$8.42	48	BADGER	4614	\$404.16			No
		BADGER4614	1 Ea.	BARCELONA SPORTING GOODS	\$9.75	48	BADGER	4614	\$468.00			No
		BadgerBadger / 4614	1 Ea.	Pro Player Supply	\$17.15	48	Badger	Badger / 4614	\$823.20	Delivery Time - 2 WeeksColors: Black, Navy, Red, Royal - Women's sizes XS- XXL	Delivery Time - 2 WeeksColors: Black, Navy, Red, Royal - Women's sizes XS-XXL	No
155	UNIFORM JERSEY High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status

			T	1		T.		1				
			1 Ea.	MFAC, LLC	ļ	50						No
			1 Ea.	The REC		50						No
			1 Ea.	School Specialty Inc		50						No
		BADGER8662	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	50	BADGER	8662	\$364.50			No
		BADGER8662	1 Ea.	BSN Sports	\$7.60	50	BADGER	8662	\$380.00			No
		BadgerBadger / 8662	1 Ea.	Pro Player Supply	\$11.67	50	Badger	Badger / 8662	\$583.50	Delivery Time - 3 Weeks. Colors: Blk, Orng, Columbia, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-3XL - One color screen school name across front	Delivery Time - 3 Weeks. Colors: Blk, Orng, Columbia, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-3XL - One color screen school name across front	No
156	UNIFORM JERSEY High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		14						No
			1 Ea.	The REC		14						No
		BADGER8962	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	14	BADGER	8962	\$102.06			No
		BADGER8962	1 Ea.	BSN Sports	\$7.60	14	BADGER	8962	\$106.40			No
		BadgerBadger / 8962	1 Ea.	Pro Player Supply	\$19.97	14	Badger	Badger / 8962	\$279.58	Delivery Time - 3 Weeks Colors: Blk, Orng, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-XXL - One color screen school name across front -	Delivery Time - 3 Weeks Colors: Blk, Orng, Forest, Athletic Gold, Graphite, Mrn, Nvy, Purp, Red, Roy, Wht - Sizes XS-XXL - One color screen school name across front -	No
157	UNIFORM SHORTS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		Training.	1 Ea.	MFAC, LLC		36						No
			1 Ea.	The REC		 			1			
						36						No
			1 Ea.	School Specialty Inc								
		BADGER7272	1 Ea. 1 Ea.	School Specialty Inc	\$7.24	36	BADGER	7272	\$260.64			No
		BADGER7272	1 Ea.	School Specialty Inc BSN Sports BARCELONA	\$7.24	36 36	BADGER	7272	\$260.64			No No
		BADGER7272 BADGER7272		BSN Sports	\$7.24 \$8.78	36	BADGER BADGER	7272 7272	\$260.64 \$316.08			No
			1 Ea.	BSN Sports BARCELONA		36 36				Delivery Time - 2 Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	Delivery Time - 2 Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No
158	UNIFORM SHORTS High	BADGER7272	1 Ea. 1 Ea.	BSN Sports BARCELONA SPORTING GOODS	\$8.78	36 36 36	BADGER	7272	\$316.08 \$427.32	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red,	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No No
158		BADGER7272 BadgerBadger / 7272 Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. Unit of	BSN Sports BARCELONA SPORTING GOODS Pro Player Supply	\$8.78	36 36 36 36	BADGER Badger	7272 Badger / 7272	\$316.08 \$427.32	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No No No
158		BADGER7272 BadgerBadger / 7272 Manufacturer & Part	1 Ea. 1 Ea. 1 Ea. Unit of Measure	BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier	\$8.78	36 36 36 36 Quantity	BADGER Badger	7272 Badger / 7272	\$316.08 \$427.32	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No No No Award Status
158		BADGER7272 BadgerBadger / 7272 Manufacturer & Part	1 Ea. 1 Ea. Unit of Measure 1 Ea.	BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC	\$8.78	36 36 36 36 Quantity	BADGER Badger	7272 Badger / 7272	\$316.08 \$427.32	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No No Award Status No
158		BADGER7272 BadgerBadger / 7272 Manufacturer & Part	1 Ea. 1 Ea. Unit of Measure 1 Ea. 1 Ea.	BSN Sports BARCELONA SPORTING GOODS Pro Player Supply Supplier MFAC, LLC Pro Player Supply	\$8.78	36 36 36 36 Quantity 3	BADGER Badger	7272 Badger / 7272	\$316.08 \$427.32	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	Weeks. Colors: Black, Orange, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal - Sizes XS-3XL	No No No Award Status No No

		BADGER7278	1 Ea.	BARCELONA SPORTING GOODS	\$8.78	3	BADGER	7278	\$26.34			No
159	WARM-UPS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		14						No
			1 Set	Pro Player Supply		14						No
			1 Set	The REC		14						No
			1 Set	School Specialty Inc		14						No
		RUSSELL698HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$26.96	14	RUSSELL	698HBM1/696H BM0	\$377.44			No
		RUSSELL698HBM1/ 696HBM0	1 Set	BSN Sports	\$34.50	14	RUSSELL	698HBM1/ 696HBM0	\$483.00			No
160	WARM-UPS High	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Set	MFAC, LLC		49						No
			1 Set	The REC		49						No
			1 Set	School Specialty Inc		49						No
		RUSSELL695HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$31.10	49	RUSSELL	695HBM1/696H BM0	\$1,523.90			No
		RUSSELL695HBM1 / 696HBM0	1 Set	BSN Sports	\$34.50	49	RUSSELL	695HBM1 / 696HBM0	\$1,690.50			No
		RussellRussell 695HBM1 / 696HBM0	1 Set	Pro Player Supply	\$38.97	49	Russell	Russell 695HBM1 / 696HBM0	\$1,909.53	Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL - Decoration: (1) Color Screen Print School NAME and CROSS COUNTRY on chest of	Delivery Time - 3 Weeks. Colors - Ash, Black, Black Heather, Navy, or Oxford - Men's sizes S-XXL - Decoration: (1) Color Screen Print School NAME and CROSS COUNTRY on chest of top and upper left leg of pant.	No
161	BAR Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		3						No
			1 Ea.	School Specialty Inc		3						No
		GILL523	1 Ea.	BSN Sports	\$56.26	3	GILL	523	\$168.78	BSN SPORTS/ GILL GA523	BSN SPORTS/ GILL GA523	No
		Gill523	1 Ea.	The REC	\$58.47	3	Gill	523	\$175.41	Alternate - Port A Pit	Alternate - Port A Pit	No
		GILL523	1 Ea.	BARCELONA SPORTING GOODS	\$64.00	3	GILL	523	\$192.00			No
		Gill523	1 Ea.	MFAC, LLC	\$113.00	3	Gill	523	\$339.00			No
162	BAR Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		8						No
			1 Ea.	Pro Player Supply		8						No
			1 Ea.	School Specialty Inc		8						No
		BSN SPORTSAFR050BM	1 Ea.	BSN Sports	\$12.58	8	BSN SPORTS	AFR050BM	\$100.64			No
		MFAC, LLC5883-01	1 Ea.	MFAC, LLC	\$19.00	8	MFAC, LLC	01/01/5883	\$152.00		https://www.everythingtra ckandfield.com/Elastic- Foam-Crossbar	No
_		BSNAFR050BM	1 Ea.	The REC	\$25.45	8	BSN	AFR050BM	\$203.60			No

163	BAR Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		5						No
			1 Ea.	School Specialty Inc		5						No
		Gill522	1 Ea.	The REC	\$55.77	5	Gill	522	\$278.85	BSN	BSN	No
		GILL522	1 Ea.	BSN Sports	\$56.26	5	GILL	522	\$281.30			No
		GILL522	1 Ea.	BARCELONA SPORTING GOODS	\$64.00	5	GILL	522	\$320.00			No
		Gill522	1 Ea.	MFAC, LLC	\$91.00	5	Gill	522	\$455.00			No
164	BATON Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		27						No
			1 Ea.	Pro Player Supply		27						No
		BSN SPORTSAALBAT	1 Ea.	BSN Sports	\$1.64	27	BSN SPORTS	AALBAT	\$44.28			No
		CHAMPION SPORTSRBSL	1 Ea.	School Specialty Inc	\$2.11	27	CHAMPION SPORTS	RBSL	\$56.97	SSI# 009814	SSI# 009814	No
		MFAC, LLC7042-Color	1 Ea.	MFAC, LLC	\$3.00	27	MFAC, LLC	7042-Color	\$81.00	https://www.everything trackandfield.com/Alu minum-Baton	https://www.everythingtra ckandfield.com/Aluminu m-Baton	No
		Gopher39-558	1 Ea.	Gopher Sport	\$3.55	27	Gopher	39-558	\$95.85	39-558	39-558	No
		BSNAALBAT	1 Ea.	The REC	\$3.82	27	BSN	AALBAT	\$103.14			No
		AAEBA	1 Ea.	aluminum athletic equipment co	\$7.00	27	AAE	ВА	\$189.00			No
165	BLOCKS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		19						No
			1 Ea.	Pro Player Supply		19						No
		PORT A PITASB1500	1 Ea.	BSN Sports	\$46.56	19	PORT A PIT	ASB1500	\$884.64			No
		ATHLETIC CONNECTIONASB1500	1 Ea.	School Specialty Inc	\$61.26	19	ATHLETIC CONNECTION	ASB1500X	\$1,163.94	SSI# 014471	SSI# 014471	No
		BSNPORT A PIT ASB1500	1 Ea.	The REC	\$69.05	19	BSN	PORT A PIT ASB1500	\$1,311.95	h Maray // www. millarda la Ga		No
		Gill416	1 Ea.	MFAC, LLC	\$73.00	19	Gill	416	\$1,387.00	https://www.gillathletic s.com/product/gill- essentials-starting- block	https://www.gillathletics.c om/product/gill- essentials-starting-block	No
		AAETSB-PRO	1 Ea.	aluminum athletic equipment co	\$105.00	19	AAE	TSB-PRO	\$1,995.00			No
66	DISCUS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	The REC		18						No
		PORT A PITARD1.0XX	1 Ea.	BSN Sports	\$3.88	18	PORT A PIT	ARD1.0XX	\$69.84	ALT BSN SPORTS/PORTA PIT ARD1.0XX RUBBER	ALT BSN SPORTS/PORTA PIT ARD1.0XX RUBBER	No
-		CHAMPION SPORTS1.0KR	1 Ea.	School Specialty Inc	\$5.41	18	CHAMPION SPORTS	1.0KR	\$97.38	SSI# 008336	SSI# 008336	No
		CHAMPION1.0KR	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.99	18	CHAMPION	1.0KR	\$107.82			No
		CHAMPION1.0KR	1 Ea.	BARCELONA SPORTING GOODS	\$6.65	18	CHAMPION	1.0KR	\$119.70			No
		MFAC, LLC6024-1.0	1 Ea.	MFAC, LLC	\$11.00	18	MFAC, LLC	6024-1.0	\$198.00	https://www.everything trackandfield.com/Rub ber- Discus?custcol2=62	https://www.everythingtra ckandfield.com/Rubber- Discus?custcol2=62	No

		ChampionChampion / 1.0KR	1 Ea.	Pro Player Supply	\$18.88	18	Champion	Champion / 1.0KR	\$339.84	Delivery Time - 2 Weeks	Delivery Time - 2 Weeks	No
		AAEPWD	1 Ea.	aluminum athletic equipment co	\$35.00	18	AAE	PWD	\$630.00			No
67	DISCUS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
	•		1 Ea.	Pro Player Supply		38						No
			1 Ea.	School Specialty Inc		38						No
		PORT A PIT1101423	1 Ea.	BSN Sports	\$21.56	38	PORT A PIT	1101423	\$819.28	ALT BSN SPORTS PORT A PIT 1101423	ALT BSN SPORTS PORT A PIT 1101423	No
		MFAC, LLC6021-1.0	1 Ea.	MFAC, LLC	\$31.00	38	MFAC, LLC	6021-1.0	\$1,178.00	https://www.everything trackandfield.com/Wo od- Discus?custcol2=62	https://www.everythingtra	No
		Gill317	1 Ea.	The REC	\$33.11	38	Gill	317	\$1,258.18	BSN 1101423	BSN 1101423	No
		AAEWWD	1 Ea.	aluminum athletic equipment co	\$35.00	38	AAE	WWD	\$1,330.00			No
		GILL317	1 Ea.	BARCELONA SPORTING GOODS	\$49.50	38	GILL	317	\$1,881.00			No
8	HURDLES Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		15						No
			1 Ea.	MFAC, LLC		15						No
			1 Ea.	Pro Player Supply		15						No
			1 Ea.	The REC		15						No
			1 Ea.	BSN Sports		15						No
			1 Ea.	School Specialty Inc		15						No
		AAEHSAH=BK	1 Ea.	aluminum athletic equipment co	\$98.00	15	AAE	HSAH=BK	\$1,470.00			No
	JERSEY Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Awar Statu
			1 Ea.	MFAC, LLC		601						No
			1 Ea.	The REC		601						No
			1 Ea.	School Specialty Inc		601						No
		BadgerBadger / 8662	1 Ea.	Pro Player Supply	\$6.79	601	Badger	Badger / 8662	\$4,080.79	Delivery Time - 3 Weeks. Decoration: (1) color screen across chest - Men's sizes XS-3XL. Colors: Black, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White.	Delivery Time - 3 Weeks. Decoration: (1) color screen across chest - Men's sizes XS- 3XL. Colors: Black, Columbia, Forest, Athletic Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White.	No
		BADGER8662	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	601	BADGER	8662	\$4,381.29			No
		BADGER8662	1 Ea.	BSN Sports	\$7.60	601	BADGER	8662	\$4,567.60			No
)	MEASURING TAPE Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Awar Statu
			1 Ea.	School Specialty Inc		24						No
		BSN SPORTSMSTAP100	1 Ea.	BSN Sports	\$5.56	24	BSN SPORTS	MSTAP100	\$133.44	ALT BSN SPORTS MSTAP100 CLOSED REEL	ALT BSN SPORTS MSTAP100 CLOSED REEL	No

Middle		•						•			1	
Champion Sample		CHAMPIONF100	1 Ea.		\$5.89	24	CHAMPION	F100	\$141.36			No
Champion Fig. Standard Fig. Fig. Standard Fig. Fig. Fig. Standard Fig.		CHAMPIONF100	1 Ea.		\$7.49	24	CHAMPION		\$179.76			No
MFAC,LLC7011-100			1 Ea.	Pro Player Supply	\$13.36	24	Champion		\$320.64			No
MFAC, LLC7011-100		ChampionF100	1 Ea.	The REC	\$14.77	24	Champion	F100	\$354.48	-	Alumagoal	No
MEASURINO TAPE Monutacturer & Part Mindle 1		MFAC, LLC7011-100	1 Ea.	MFAC, LLC	\$17.00	24	MFAC, LLC	7011-100	\$408.00	trackandfield.com/Eco nomy-Closed-Reel- Fiberglass-Measuring-	ckandfield.com/Economy- Closed-Reel-Fiberglass- Measuring-	
Middle Number Measure Sulphief Start Sulphief Start Sulphief Start Sulphief Start Sulphief Start S					\$17.00	24	CHAMPION	F100	\$408.00			
Sent				Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award
SPORTSMSTAP200 1 Ea. BSN Sports Sp.28 22 BSN SPORTS MSTAP200 OPEN MSTAP200 OPE	imadic	Number	_	School Specialty Inc		22						
CHAMPIONR200 1 Ea. SPRODUCTS \$14.45 22 CHAMPION \$200 \$2.72.00			1 Ea.	BSN Sports	\$9.28	22	BSN SPORTS	MSTAP200	\$204.16	MSTAP200 OPEN		No
Figure F		CHAMPIONR200	1 Ea.		\$10.45	22	CHAMPION	R200	\$229.90			No
MFAC, LLC7012-200		CHAMPIONR200	1 Ea.		\$12.60	22	CHAMPION	R200	\$277.20			No
MFAC, LLC7012-200		CHAMPIONR200	1 Ea.		\$22.00	22	CHAMPION	R200	\$484.00			No
Champion R200 S13.92 Delivery Time - 2		MFAC, LLC7012-200	1 Ea.	MFAC, LLC	\$23.00	22	MFAC, LLC	7012-200	\$506.00	trackandfield.com/Eco nomy-Open-Reel- Fiberglass-Measuring-	ckandfield.com/Economy- Open-Reel-Fiberglass- Measuring-	
SHORTS Middle			1 Ea.	Pro Player Supply	\$23.36	22	Champion		\$513.92	Delivery Time - 2	Delivery Time - 2	No
SHORTS Middle Number Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price tem Response Notes Supplier Notes Statu		ChampionR200	1 Ea.	The REC	\$25.45	22	Champion	R200	\$559.90	Alumagoal	Alumagoal	No
1 Ea. The REC 216	2 SHORTS Middle			Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Awar Statu
1 Ea. School Specialty Inc 216 SAGER 216 SAGER 227 SAGER			1 Ea.	MFAC, LLC		216						No
BADGER7207 1 Ea. BSN Sports \$4.82 216 BADGER 7207 \$1,041.12 Delivery Time - 2 Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge 4,00) BADGER7207 1 Ea. BARCELONA SPORTING GOODS 55.85 216 BADGER 7207 \$1,263.60 Delivery Time - 2 Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge 4,00) BADGER7207 1 Ea. BARCELONA SPORTING GOODS 55.85 216 BADGER 7207 \$1,263.60 No SHORTS Middle Manufacturer & Part Number Total Price Item Response Notes Supplier Notes Status Status No			1 Ea.	The REC		216						No
BadgerBadger / 7207 1 Ea. Pro Player Supply \$5.10 216 Badger Badger Badger / 7207 \$1,101.60 Purple, Collegiate Blue, White, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red-Mens Sizes S-6XL. 3XL & Up (Upcharge 4.00) No Shorts Middle Manufacturer & Part Number Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes Supplier Notes Statute No No Delivery Time - 2 Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red-Mens Sizes S-6XL. 3XL & Up (Upcharge 4.00) No BADGER7207 1 Ea. BARCELONA SPORTING GOODS \$5.85 216 BADGER 7207 \$1,263.60 No BADGER7207 1 Ea. BARCELONA SPORTING GOODS South Price Supplier Notes Supplier Notes Statute S			1 Ea.	School Specialty Inc		216						No
BadgerBadger / 7207 1 Ea. Pro Player Supply \$5.10 216 Badger Badger / 7207 \$1,101.60 Badger Properties of the purple, Collegiate Blue, White, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red Mens Sizes S-6XL, 3XL & Up (Upcharge 4.00) BADGER7207 1 Ea. BARCELONA SPORTING GOODS \$5.85 216 BADGER 7207 \$1,263.60 No SHORTS Middle Manufacturer & Part Number Total Price Item Response Notes Supplier Notes Status No.		BADGER7207	1 Ea.	BSN Sports	\$4.82	216	BADGER	7207	\$1,041.12			No
BADGER7207 1 Ea. BARCELONA SPORTING GOODS 55.85 216 BADGER 7207 \$1,263.60 No SHORTS Middle Manufacturer & Part Number Unit of Measure 1 Ea. MFAC, LLC 191 Part Number 1 Total Price Item Response Notes Supplier Notes Statu. No		BadgerBadger / 7207	1 Ea.		\$5.10	216	Badger	Badger / 7207	\$1,101.60	Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge	Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge	No
SHORTS Milddle Number Measure Supplier Bid Price Quantity Manufacturer Part Number Total Price Item Response Notes Supplier Notes Statu 1 Ea. MFAC, LLC 191 No					\$5.85	216	BADGER	7207	\$1,263.60	·		No
	3 SHORTS Middle			Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Awar Statu
1 Ea. The REC 191 No			1 Ea.	MFAC, LLC		191						No
			1 Ea.	The REC		191						No

			1 Ea.	School Specialty Inc		191						No
		BADGER7209	1 Ea.	BSN Sports	\$5.18	191	BADGER	7209	\$989.38			No
		BadgerBadger / 7209	1 Ea.	Pro Player Supply	\$6.33	191	Badger	Badger / 7209	\$1,209.03	Delivery Time - 2 Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge 4.00)	Delivery Time - 2 Weeks. Colors: Black, Cardinal, Maroon, Navy, Orange, Gold, Purple, Collegiate Blue, White, Cardinal, Forest, Graphite, Royal, Silver, Red - Mens Sizes S-6XL. 3XL & Up (Upcharge 4.00)	No
		BADGER7209	1 Ea.	BARCELONA SPORTING GOODS	\$6.57	191	BADGER	7209	\$1,254.87			No
174	SHOT / DISCUS CARRIER Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		24						No
			1 Ea.	School Specialty Inc		24						No
		PORT A PITASDCXXXX	1 Ea.	BSN Sports	\$4.43	24	PORT A PIT	ASDCXXXX	\$106.32	ALT BSN SPORTS PORT A PIT ASDCXXXX	ALT BSN SPORTS PORT A PIT ASDCXXXX	No
		CHAMPIONSD10	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.99	24	CHAMPION	SD10	\$143.76			No
		CHAMPIONSD10	1 Ea.	BARCELONA SPORTING GOODS	\$6.95	24	CHAMPION	SD10	\$166.80			No
		ChampionSD10	1 Ea.	The REC	\$9.59	24	Champion	SD10	\$230.16	Port A Pit		No
		MFAC, LLC#6081-12	1 Ea.	MFAC, LLC	\$13.00	24	MFAC, LLC	#6081-12	\$312.00	https://www.everything trackandfield.com/Shot- and-Discus- Carrier?custcol17=6	https://www.everythingtra ckandfield.com/Shot-and- Discus- Carrier?custcol17=6	No
		CHAMPIONSD10	1 Ea.	aluminum athletic equipment co	\$18.00	24	CHAMPION	SD10	\$432.00			No
175	SHOT PUT Middle	CHAMPIONSD10 Manufacturer & Part Number	1 Ea. Unit of Measure		\$18.00 Bid Price	24 Quantity	CHAMPION Manufacturer	SD10 Part Number		Item Response Notes		No Award Status
175	SHOT PUT Middle	Manufacturer & Part	Unit of	equipment co						Item Response Notes	Supplier Notes	Award
175	SHOT PUT Middle	Manufacturer & Part	Unit of Measure	equipment co Supplier BARCELONA		Quantity				Item Response Notes	Supplier Notes	Award Status
175	SHOT PUT Middle	Manufacturer & Part	Unit of Measure 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS		Quantity				Item Response Notes	Supplier Notes	Award Status
175	SHOT PUT Middle	Manufacturer & Part Number	Unit of Measure 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply		Quantity 17				Item Response Notes	Supplier Notes	Award Status No
175	SHOT PUT Middle	Manufacturer & Part Number	Unit of Measure 1 Ea. 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc	Bid Price	Quantity 17 17 17	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status No No
175	SHOT PUT Middle	Manufacturer & Part Number BSN SPORTSARSHOTAK	Unit of Measure 1 Ea. 1 Ea. 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC	Bid Price	Quantity 17 17 17 17	Manufacturer BSN SPORTS	Part Number ARSHOT4K	Total Price		Supplier Notes https://www.everythingtra	Award Status No No No No
175		BSN SPORTSARSHOTAK BSNARSHOTAK MFAC, LLC#6031-4.0 AAE4KI	Unit of Measure 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC	\$14.28 \$20.70	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN	Part Number ARSHOT4K ARSHOT4K	**Total Price** \$242.76 \$351.90	https://www.everything trackandfield.com/First- Place-Cast-Iron-	Supplier Notes https://www.everythingtrackandfield.com/First-Place-Cast-Iron-Shot?custcol2=70	Award Status No No No No No
175	SHOT PUT Middle TAKE OFF BOARD Middle	Manufacturer & Part Number BSN SPORTSARSHOTAK BSNARSHOT4K MFAC, LLC#6031-4.0	Unit of Measure 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC aluminum athletic equipment co Supplier	\$14.28 \$20.70	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN MFAC, LLC	Part Number ARSHOT4K ARSHOT4K #6031-4.0	\$242.76 \$351.90 \$437.75 \$493.00	https://www.everything trackandfield.com/First- Place-Cast-Iron-	Supplier Notes https://www.everythingtrackandfield.com/First-Place-Cast-Iron-Shot?custcol2=70	Award Status No
	TAKE OFF BOARD	BSN SPORTSARSHOTAK BSNARSHOTAK BSNARSHOTAK MFAC, LLC#6031-4.0 AAE4KI Manufacturer & Part	Unit of Measure 1 Ea. 1 Lea. 1 Lea. 1 Lea. 1 Lea. 1 Lea. 1 Lea. 1 Lea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC aluminum athletic equipment co	\$14.28 \$20.70 \$25.75 \$29.00	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN MFAC, LLC AAE	Part Number ARSHOT4K ARSHOT4K #6031-4.0	\$242.76 \$351.90 \$437.75 \$493.00	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtra ckandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	Award Status No No No No No No No No Award
	TAKE OFF BOARD	BSN SPORTSARSHOTAK BSNARSHOTAK BSNARSHOTAK MFAC, LLC#6031-4.0 AAE4KI Manufacturer & Part	Unit of Measure 1 Ea. Unit of Measure	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC aluminum athletic equipment co Supplier BARCELONA	\$14.28 \$20.70 \$25.75 \$29.00	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN MFAC, LLC AAE	Part Number ARSHOT4K ARSHOT4K #6031-4.0	\$242.76 \$351.90 \$437.75 \$493.00	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtra ckandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	Award Status No No No No No No No Award Status
	TAKE OFF BOARD	BSN SPORTSARSHOTAK BSNARSHOTAK BSNARSHOTAK MFAC, LLC#6031-4.0 AAE4KI Manufacturer & Part	Unit of Measure 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC aluminum athletic equipment co Supplier BARCELONA SPORTING GOODS	\$14.28 \$20.70 \$25.75 \$29.00	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN MFAC, LLC AAE	Part Number ARSHOT4K ARSHOT4K #6031-4.0	\$242.76 \$351.90 \$437.75 \$493.00	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtra ckandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	Award Status No No No No No No No Award Status No
	TAKE OFF BOARD	BSN SPORTSARSHOTAK BSNARSHOTAK BSNARSHOTAK MFAC, LLC#6031-4.0 AAE4KI Manufacturer & Part	Unit of Measure 1 Ea. Unit of Measure 1 Ea. 1 Ea.	equipment co Supplier BARCELONA SPORTING GOODS Pro Player Supply School Specialty Inc BSN Sports The REC MFAC, LLC aluminum athletic equipment co Supplier BARCELONA SPORTING GOODS MFAC, LLC	\$14.28 \$20.70 \$25.75 \$29.00	Quantity 17 17 17 17 17 17	Manufacturer BSN SPORTS BSN MFAC, LLC AAE	Part Number ARSHOT4K ARSHOT4K #6031-4.0	\$242.76 \$351.90 \$437.75 \$493.00	https://www.everything trackandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtrackandfield.com/First-Place-Cast-Iron-Shot?custcol2=70 Supplier Notes	Award Status No

		BSN1200485	1 Ea.	The REC	\$192.93	1	BSN	1200485	\$192.93			No
		AAECTB-8	1 Ea.	aluminum athletic equipment co	\$550.00	1	AAE	CTB-8	\$550.00			No
177	WARM-UPS Middle	Manufacturer & Part	Unit of	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award
	WARTIN OF CHINAGE	Number	Measure 1 Set	MFAC, LLC	BiaTrice	146	Mariaradarer	T dit Hamber	Total Trioc	nem response rotes	Cappiler Notes	Status No
			1 Set	The REC		146						No
			1 Set	School Specialty Inc		146						No
		RUSSELL695HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$31.10	146	RUSSELL	695HBM1/696H BM0	\$4,540.60			No
		RussellRussell / 695HBM1 - 696HBM0	1 Set	Pro Player Supply	\$33.64	146	Russell	Russell / 695HBM1 - 696HBM0	\$4,911.44	Delivery Time - 3-4 Weeks(Oxford Grey only with one color screen) - Sweats S- XXL - Screen on chest of top and upper left leg of pant.	Delivery Time - 3-4 Weeks(Oxford Grey only with one color screen) - Sweats S-XXL - Screen on chest of top and upper left leg of pant.	No
		RUSSELL695HBM1 - 696HBM0	1 Set	BSN Sports	\$34.50	146	RUSSELL	695HBM1 - 696HBM0	\$5,037.00			No
178	WATCHES Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		56						No
			1 Ea.	The REC		56						No
			1 Ea.	School Specialty Inc		56						No
		ACCUSPLITAX725BK	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$14.89	56	ACCUSPLIT	AX725BK	\$833.84			No
		ACCUSPLITAX725	1 Ea.	BSN Sports	\$15.87	56	ACCUSPLIT	AX725	\$888.72	BSN SPORTS ACCUSPLIT MSSTP725	BSN SPORTS ACCUSPLIT MSSTP725	No
		ACCUSPLITAX725BK	1 Ea.	BARCELONA SPORTING GOODS	\$16.70	56	ACCUSPLIT	AX725BK	\$935.20			No
		ACCUSPLITAX725PRO	1 Ea.	MFAC, LLC	\$21.50	56	ACCUSPLIT	AX725PRO	\$1,204.00			No
		ACCUSPLITAX725	1 Ea.	aluminum athletic equipment co	\$26.00	56	ACCUSPLIT	AX725	\$1,456.00			No
179	BAR Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		2						No
		GILL522	1 Ea.	BSN Sports	\$56.26	2	GILL	522	\$112.52	BSN SPORT GILL GA522	BSN SPORT GILL GA522	No
		Gill522	1 Ea.	The REC	\$61.97	2	Gill	522	\$123.94	Port A Pit	Port A Pit	No
		LITANIA SPORT GROUP INC522	1 Ea.	School Specialty Inc	\$63.38	2	LITANIA SPORT	522	\$126.76	SSI# 025262	SSI# 025262	No
		GILL522	1 Ea.	BARCELONA SPORTING GOODS	\$64.00	2	GILL	522	\$128.00			No
		GILL522	1 Ea.	MFAC, LLC	\$142.00	2	GILL	522	\$284.00			No
180	BATON Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		23						No
			1 Ea.	Pro Player Supply		23						No
		BSN SPORTSAALBAT	1 Ea.	BSN Sports	\$1.64	23	BSN SPORTS	AALBAT	\$37.72			No
		MFAC, LLC7042- COLOR	1 Ea.	MFAC, LLC	\$3.00	23	MFAC, LLC	7042-COLOR	\$69.00	https://www.everything trackandfield.com/Alu minum-Baton		No
		BSNAALBAT	1 Ea.	The REC	\$3.96	23	BSN	AALBAT	\$91.08			No

		1		aluminum athletic	Ι.		1		1.	1		
		AAEBA	1 Ea.	equipment co	\$7.00	23	AAE	BA	\$161.00			No
		ATHLETIC CONNECTIONASB1500	1 Ea.	School Specialty Inc	\$61.26	23	ATHLETIC CONNECTION	ASB1500X	\$1,408.98	SSI# 014471	SSI# 014471	No
81	BLOCKS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		12						No
			1 Ea.	Pro Player Supply		12						No
		CHAMPION SPORTSR100	1 Ea.	School Specialty Inc	\$6.52	12	CHAMPION SPORTS	R100	\$78.24	SSI# 007532	SSI# 007532	No
		PORT A PITASB1500X	1 Ea.	BSN Sports	\$46.56	12	PORT A PIT	ASB1500X	\$558.72			No
		BSNPORT A PIT ASB1500	1 Ea.	The REC	\$69.56	12	BSN	PORT A PIT ASB1500	\$834.72			No
		GILL416	1 Ea.	MFAC, LLC	\$73.00	12	GILL	416	\$876.00	https://www.gillathletic s.com/product/gill- essentials-starting- block	https://www.gillathletics.c om/product/gill- essentials-starting-block	No
		AAETSB-PRO	1 Ea.	aluminum athletic equipment co	\$105.00	12	AAE	TSB-PRO	\$1,260.00			No
82	DISCUS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		4						No
			1 Ea.	School Specialty Inc		4						No
		PORT A PIT1101423	1 Ea.	BSN Sports	\$21.56	4	PORT A PIT	1101423	\$86.24		ALT BSN SPORTS PORT A PIT 1101423	No
		MFAC, LLC6021-1.0	1 Ea.	MFAC, LLC	\$31.00	4	MFAC, LLC	6021-1.0	\$124.00	https://www.everything trackandfield.com/Wo od- Discus?custcol2=62	https://www.everythingtra ckandfield.com/Wood- Discus?custcol2=62	No
		Gill317	1 Ea.	The REC	\$33.11	4	Gill	317	\$132.44	BSN	BSN	No
		AAEWWD	1 Ea.	aluminum athletic equipment co	\$35.00	4	AAE	WWD	\$140.00			No
		GILL317	1 Ea.	BARCELONA SPORTING GOODS	\$49.50	4	GILL	317	\$198.00			No
33	HURDLES Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		25						No
			1 Ea.	MFAC, LLC		25						No
			1 Ea.	The REC		25						No
			1 Ea.	BSN Sports		25						No
			1 Ea.	School Specialty Inc		25						No
		AAEHSAH-BK	1 Ea.	aluminum athletic equipment co	\$98.00	25	AAE	HSAH-BK	\$2,450.00			No
		AAEAAE / HSAH-BK	1 Ea.	Pro Player Supply	\$199.79	25	AAE	AAE / HSAH- BK	\$4,994.75	Delivery Time - 4-6 Weeks.	Delivery Time - 4-6 Weeks.	No
84	JERSEY Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	MFAC, LLC		497						No
			1 Ea.	The REC		497						No
			1 Ea.	School Specialty Inc		497						No
		BADGER8962	1 Ea.	BARCELONA SPORTING GOODS	\$7.29	497	BADGER	8962	\$3,623.13			No

		BadgerBadger / 8962	1 Ea.	Pro Player Supply	\$7.33	497	Badger	Badger / 8962	\$3,643.01	Delivery Time - 3 Weeks.Women's sizes XS-XXL - Black, Columbia, Forest, Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White. Decoration: (1) Color Screen Print Logo Across Chest.	Delivery Time - 3 Weeks.Women's sizes XS-XXL - Black, Columbia, Forest, Gold, Graphite, Maroon, Navy, Purple, Red, Royal, White. Decoration: (1) Color Screen Print Logo Across Chest.	No
		BADGER8962	1 Ea.	BSN Sports	\$7.60	497	BADGER	8962	\$3,777.20			No
185	MEASURING TAPE Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	School Specialty Inc		16						No
		BSN SPORTSMSTAP100	1 Ea.	BSN Sports	\$5.56	16	BSN SPORTS	MSTAP100	\$88.96	ALT BSN SPORTS MSTAP100 CLOSED REEL	ALT BSN SPORTS MSTAP100 CLOSED REEL	No
		CHAMPIONF100	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.89	16	CHAMPION	F100	\$94.24			No
		CHAMPIONF100	1 Ea.	BARCELONA SPORTING GOODS	\$7.49	16	CHAMPION	F100	\$119.84			No
		ChampionChampion / F100	1 Ea.	Pro Player Supply	\$13.67	16	Champion	Champion / F100	\$218.72	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
		ChampionF100	1 Ea.	The REC	\$14.77	16	Champion	F100	\$236.32	Alumagoal	•	No
		MFAC,LLC7011-100	1 Ea.	MFAC, LLC	\$17.00	16	MFAC,LLC	7011-100	\$272.00	https://www.everything trackandfield.com/Eco nomy-Closed-Reel- Fiberglass-Measuring- Tape?custcol19=6	https://www.everythingtra ckandfield.com/Economy- Closed-Reel-Fiberglass- Measuring- Tape?custcol19=6	No
		CHAMPIONF100	1 Ea.	aluminum athletic equipment co	\$17.00	16	CHAMPION	F100	\$272.00			No
186	MEASURING TAPE Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		BSN SPORTSMSTAP200	1 Ea.	BSN Sports	\$9.28	13	BSN SPORTS	MSTAP200	\$120.64	ALT BSN SPORTS MSTAP200 OPEN REEL	ALT BSN SPORTS MSTAP200 OPEN REEL	No
		CHAMPIONR200	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$10.45	13	CHAMPION	R200	\$135.85			No
		CHAMPION SPORTSR200	1 Ea.	School Specialty Inc	\$10.75	13	CHAMPION SPORTS	R200	\$139.75	SSI# 008399	SSI# 008399	No
		CHAMPIONR200	1 Ea.	BARCELONA SPORTING GOODS	\$12.60	13	CHAMPION	R200	\$163.80			No
		CHAMPIONR200	1 Ea.	aluminum athletic equipment co	\$22.00	13	CHAMPION	R200	\$286.00			No
		MFAC, LLC7012-200	1 Ea.	MFAC, LLC	\$23.00	13	MFAC, LLC	7012-200	\$299.00	https://www.everything trackandfield.com/Eco nomy-Open-Reel- Fiberglass-Measuring- Tape?custcol19=8	https://www.everythingtra ckandfield.com/Economy- Open-Reel-Fiberglass- Measuring- Tape?custcol19=8	No
		ChampionR200	1 Ea.	The REC	\$24.54	13	Champion	R200	\$319.02	Alumagoal	ŭ	No
		ChampionChampion / R200	1 Ea.	Pro Player Supply	\$24.74	13	Champion	Champion / R200	\$321.62	Delivery Time - 2 Weeks.	Delivery Time - 2 Weeks.	No
407		Manufacturer & Part	Unit of			0 111	Manufacturer	Part Number	Total Price	Ham Dannanas Natas	Ourselles Netes	Award
187	SHORTS Middle	Number	Measure	Supplier	Bid Price	Quantity	Manufacturer	Fait Number	Total Frice	Item Response Notes	Supplier Notes	Status
187	SHORTS Middle			Supplier MFAC, LLC	Bid Price	315	Manufacturer	rait Number	Total Frice	item Response Notes	• •	Status No
187	SHORTS Middle		Measure 1 Ea. 1 Ea.		Bid Price	315 315	Manufacturer	rait Number	Total Frice	item Response Notes	• •	No No
187	SHORTS Middle		Measure 1 Ea.	MFAC, LLC	\$4.82	315	BADGER	7216	\$1,518.30	ntern Response Notes	• •	No

		BadgerBadger / 7216	1 Ea.	Pro Player Supply	\$5.66	315	Badger	Badger / 7216	\$1,782.90	Delivery Time - 2 Weeks. Colors: Black, Cardinal, Brown, Maroon, Navy, Burnt Orange, Gold, Purple, Columbia, White, Forest, Graphite, Royal, Silver, Red, Maroon.	Delivery Time - 2 Weeks. Colors: Black, Cardinal, Brown, Maroon, Navy, Burnt Orange, Gold, Purple, Columbia, White, Forest, Graphite, Royal, Silver, Red, Maroon.	No
		BADGER7216	1 Ea.	BARCELONA SPORTING GOODS	\$5.85	315	BADGER	7216	\$1,842.75			No
188	SHOT / DISCUS CARRIER Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
		· · · · · · · · · · · · · · · · · · ·	1 Ea.	Pro Player Supply		12						No
			1 Ea.	School Specialty Inc		12						No
		PORT A PITASDCXXXX	1 Ea.	BSN Sports	\$4.43	12	PORT A PIT	ASDCXXXX	\$53.16	ALT BSN SPORT PORT A PIT ASDCXXXX	ALT BSN SPORT PORT A PIT ASDCXXXX	No
		CHAMPIONSD10	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$5.99	12	CHAMPION	SD10	\$71.88			No
		CHAMPIONSD10	1 Ea.	BARCELONA SPORTING GOODS	\$6.95	12	CHAMPION	SD10	\$83.40			No
		ChampionSD10	1 Ea.	The REC	\$9.59	12	Champion	SD10	\$115.08			No
		MFAC, LLC6081-12	1 Ea.	MFAC, LLC	\$13.00	12	MFAC, LLC	12/01/6081	\$156.00	https://www.everything trackandfield.com/Shot and-Discus- Carrier?custcol17=6	https://www.everythingtra ckandfield.com/Shot-and- Discus- Carrier?custcol17=6	No
		CHAMPIONSD10	1 Ea.	aluminum athletic equipment co	\$18.00	12	CHAMPION	SD10	\$216.00			No
189	SHOT PUT Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	BARCELONA SPORTING GOODS		2						No
			1 Ea.	Pro Player Supply		2						No
			1 Ea.	School Specialty Inc		2						No
		BSN SPORTSARSHOT4K	1 Ea.	BSN Sports	\$14.28	2	BSN SPORTS	ARSHOT4K	\$28.56			No
		BSNARSHOT4K	1 Ea.	The REC	\$20.70	2	BSN	ARSHOT4K	\$41.40			No
		MFAC, LLC6031-4.0	1 Ea.	MFAC, LLC	\$25.75	2	MFAC, LLC	6031-4.0	\$51.50	https://www.everything trackandfield.com/First Place-Cast-Iron- Shot?custcol2=70	https://www.everythingtra ckandfield.com/First- Place-Cast-Iron- Shot?custcol2=70	No
		AAE4KI	1 Ea.	aluminum athletic equipment co	\$29.00	2	AAE	4KI	\$58.00			No
190	STANDARDS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	BARCELONA SPORTING GOODS		2						No
			1 Set	Pro Player Supply		2						No
						2						No
			1 Set	School Specialty Inc		2						INU
		BSN SPORTS/ PORT A PIT1378658 BSNPORT A PIT	1 Set 1 Set	BSN Sports	\$288.00	2	BSN SPORTS/ PORT A PIT	1378658 PORT A PIT	\$576.00			No

		MFAC, LLC5878-01	1 Set	MFAC, LLC	\$380.00	2	MFAC, LLC	01/01/5878	\$760.00	trackandfield.com/First-	https://www.everythingtra ckandfield.com/First- Place-Elite-Steel-High- Jump-Standards_2	No
		AAERJS	1 Set	aluminum athletic equipment co	\$550.00	2	AAE	RJS	\$1,100.00			No
191	WARM-UPS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		25						No
			1 Set	The REC		25						No
			1 Set	School Specialty Inc		25						No
		RUSSELL698HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$26.96	25	RUSSELL	698HBM1/696H BM0	\$674.00			No
		RUSSELL698HBM1- 696HBM0	1 Set	BSN Sports	\$34.50	25	RUSSELL	698HBM1- 696HBM0	\$862.50			No
		RussellRussell / 698HBM1 - 696HBM0	1 Set	Pro Player Supply	\$42.65	25	Russell	Russell / 698HBM1 - 696HBM0	\$1,066.25	Delivery Time - 3-4 Weeks. Oxford Grey only with one color scree - S-XXXL - Screen on chest of top and upper left leg of pant -	Delivery Time - 3-4 Weeks. Oxford Grey only with one color scree - S- XXXL - Screen on chest of top and upper left leg of pant -	No
192	WARM-UPS Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Set	MFAC, LLC		142						No
			1 Set	The REC		142						No
			1 Set	School Specialty Inc		142						No
		RUSSELL695HBM1/696 HBM0	1 Set	BARCELONA SPORTING GOODS	\$31.10	142	RUSSELL	695HBM1/696H BM0	\$4,416.20			No
		RussellRussell / 695HBM1 - 696HBM0	1 Set	Pro Player Supply	\$33.63	142	Russell	Russell / 695HBM1 - 696HBM0	\$4,775.46	Delivery Time - 3-4 Weeks. Oxford Grey only with one color scree - S-XXXL - Screen on chest of top and upper left leg of pant -	Delivery Time - 3-4 Weeks. Oxford Grey only with one color scree - S- XXXL - Screen on chest of top and upper left leg of pant -	No
		RUSSELL695HBM1- 696HBM0	1 Set	BSN Sports	\$34.50	142	RUSSELL	695HBM1- 696HBM0	\$4,899.00			No
193	WATCHES Middle	Manufacturer & Part Number	Unit of Measure	Supplier	Bid Price	Quantity	Manufacturer	Part Number	Total Price	Item Response Notes	Supplier Notes	Award Status
			1 Ea.	Pro Player Supply		26						No
			1 Ea.	The REC		26						No
			1 Ea.	School Specialty Inc		26						No
		ACCUSPLITAX725BK	1 Ea.	PYRAMID SCHOOL PRODUCTS	\$14.89	26	ACCUSPLIT	AX725BK	\$387.14			No
		ACCUSPLITAX725	1 Ea.	BSN Sports	\$15.87	26	ACCUSPLIT	AX725	\$412.62	BSN SPORTS ACCUSPLIT MSSTP725	BSN SPORTS ACCUSPLIT MSSTP725	No
		ACCUSPLITAX725BK	1 Ea.	BARCELONA SPORTING GOODS	\$16.70	26	ACCUSPLIT	AX725BK	\$434.20			No
		ACCUSPLITAX725PRO	1 Ea.	MFAC, LLC	\$21.50	26	ACCUSPLIT	AX725PRO	\$559.00			No
		ACCUSPLITAX725	1 Ea.	aluminum athletic	\$26.00	26	ACCUSPLIT	AX725	\$676.00	1		No